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8 Topics in Syntax 

8.1 Introduction 
This chapter pays attention to the following topics:  
- verb valency and object agreement 
- word order 
- relative clauses 
- interrogative sentences 
- information structure 
- comparison 
- complex sentences 
 
In section 8.2 on verb valency and object agreement, data is presented that shows 
that object agreement in Liko is limited to persons and to all and only nouns 
belonging to class 1 (and its subclasses) and 2, regardless of their semantic 
category. The way in which a passive meaning is expressed, is presented in section 
8.2 and not together with verb extensions in Chapter 7, because the language does 
not have a Passive extension. It is shown that locatives do not serve as arguments. 
 
In many Bantu languages, "word order contributes crucially to define the intended 
purpose of the sentence as part of the communicative event." (Bearth 2003:130). 
The order of subject, finite verb and objects is quite strict in Liko, with only a few 
cases in natural and translated texts where the object is preposed and precedes the 
subject. The subject never occurs postverbally. Of interest in section 8.3 on Word 
Order is also the order of objects. 
 
Section 8.4 on Relative clauses provides data on relativization of subjects, objects 
and adjuncts. I will use the term "adjuncts" for constituents of the clause that are 
not included in the argument structure of the verb, such as prepositional phrases, 
locative or time NPs, etc. Relativization shows that objects and adjuncts can be 
formally distinguished in Liko by the absence or presence of a "trace" particle. 
 
Section 8.5 presents how interrogative sentences are formed and exemplifies the 
question words.
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In section 8.6 on Information Structure, the strategies to mark new information and 
contrast are presented, followed by left-dislocation and external topicalization. 
There is a striking similarity between left-dislocation and relativization: both 
processes require the trace particle when adjuncts are involved. An impression of 
the coding of information structure in Liko is presented in an annotated text, see 
Appendix 1, 1.5.1. 
 
The sections 8.7 on comparison and 8.8 on complex sentences, including the use of 
Infinitives, conclude this chapter. 

8.2 Verb valency and object agreement 
Simple, non-derived verbs in Liko can be classified based on the number of 
arguments in one-place, two-place and three-place verbs. Bearth (2003:122) posits 
the same classification for Bantu languages in general. His four-way division of the 
realization of arguments also holds for Liko: they are realized as lexically specified 
nouns or noun phrases, as subject prefix and object prefix incorporated in the verb, 
as independent pronouns and as zero. The finite verb is the minimal form of the 
sentence. 
 
In Liko, the subject is the constituent in the clause with which the subject prefix in 
the finite verb form agrees to a limited extent in number and/or noun class, see 7.4. 
Verbs can have up to two objects which follow the verb form (in clauses with 
canonical word order) and precede any adjuncts. In the case of two-place verbs, 
class 1 and 2 objects are obligatorily referenced by an object prefix in the verb 
form. In the case of verbs with more than one object, the object prefix agrees with 
the first object following the verb. Which object occurs as the first object is 
determined by the valency of the (derived) verb. For instance, the first object of a 
verb with the Benefactive extension is the argument expressing the beneficiary. 
Objects and adjuncts are formally distinguished by the requirement for adjuncts to 
leave the trace particle when they are left-dislocated or relativized. Other 
distinctions are that the occurrence of adjuncts is not constrained by the valency of 
the verb and that the order of adjuncts is variable. Adjuncts have no agreement 
prefix in the verb morphology. 
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8.2.1 One-place verbs 
The one argument is always represented by a subject prefix in the verb form. In 
addition, it may occur as a lexically specified noun or noun phrase, or as an 
independent pronoun.  
 
In the following two examples, the subject is represented by the subject prefix, the 
first person singular na- (no- after assimilation to [+ATR]), and the third person 
plural ɓá-: 
(8.1) nó-zuzǔk-á ndɩ 
 1SGp-wake up-FVP P3 
 'I woke up' 

 
(8.2) ɓá-pʊng-a ká-ag-ǎ ká mbʊḱʊ 
 3PL-start-FV 9b-leave-FV PREP 9.grave 
 'They started / They will start to leave for the grave.' (T2006.3) 398 

 
Examples of realizations as a noun include: 
(8.3)a. kɔḱʊ ́ álɩḱ-a 
 1a.cock 3SGp:cry-FV 
 'The cock crowed.' 
b. ɓa-kɔḱʊ́ ɓálɩḱ-a 
 2-cock 3PL:cry-FV 
 'The cocks crowed.' / The cocks will crow.' 
c. mʊ́gá a-pʊng-a kó-pup-ó 
 3:vapour 3SG-start-FV 9b-leave-FV 
 'A vapour starts to come out.' (T2006.6) 

 
The subject is expressed by a pronoun, ɩyɩ,́ in: 
(8.4) ɩyɩ ́ ó-kw-á-tʊ̌ ndɩ gɔnɩ ́
 1.PRO 3SGp-die-FV-INS P3 also 
 'He certainly died too.' (T2008.10) 

                                                   
 
398 In the context, time reference is the past. The morphology and the surface tones indicate 
either Past or Future. 
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8.2.2 Two-place verbs 
The majority of Liko verbs belong to the class of two-place verbs. Grammatical 
agreement with the object is limited to persons and to all and only nouns belonging 
to classes 1 and 2, see 8.2.5. For a description of object prefixes, see 7.5.1. In the 
examples below, the object is a noun (in a) or only represented in the verb 
morphology as object prefix (in b): 
(8.5)a. Zangɩýá á- ɓɩḱy-ǎ ndɩ ngámá 
 "Zangɩya" 3SGp:1.O-say-FV P3 1a.chief 
 'Zangɩya told the chief.' 
b. Zangɩýá ã-́ ɓɩḱy-ǎ ndɩ 
 "Zangɩya" 3SGp:1.O-say-FV P3 
 'Zangɩya told him.' 

 
In the following examples, the object belongs to class 1 in (8.6a, c) and to class 13 
in (8.6b). The verb form does not have an object prefix in (8.6b), because the 
object is not in classes 1 or 2. In (8.6c), although the object is inanimate, an object 
prefix agrees with kínga '1a.bicycle', because the object belongs to class 1. 
(8.6)a. mamá a-dung-o ɓánʊ míkí 
 1a.mother 3SG:1.O-carry-FV F2 1a.child 
 'Mother will carry the child.' 
b. ná-pak-ǎ ndɩ tú ká-tʊ kǎmɩ 
 1SGp-protect-FV P3 13.hair-13 1SG.POSS 
 'I protected my hair.' 
c. ná- túndul-ǎ ndɩ kínga kó kpúmó 
 1SGp:1.O-push-FV P3 1a.bicycle PREP 9.hill 
 'I pushed the bicycle up the hill.' 

 
In the next example, the class 2 object prefix ʊ-̌ agrees with the class 2 object:  
(8.7) míkí mu-kó yi nɩ-́nɔ ̌ ʊm-ʊ́kan-ag-a399 
 1a.child 1-woman 1.DEM.III COP-1.DEM.I 3SG:2.O-hear-PLUR-FV 
    

                                                   
 
399 The H tone of the  LH tone on the vowel of the object prefix, ʊ-̌, is associated with the 
initial vowel of the verb -ʊkan- 'hear'.  
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 ɓa-bǎkɩ na ɓa-mákɩ, 
 2:1b-father:3SG.POSS and 2:1b-mother:3SG.POSS 
 ik-og-o míkí wa-ɩ-bɩbǎ ká mʊ-sɛngɩ ́
 3SG:be-PLUR-FV 1a.child 1.ASS-9a-honour PREP 3-village 
 'The girl who listens to her fathers and her mothers will be a child 

of honour in the village.' (T2006.9) 

8.2.3 Three-place verbs 
The most common three-place or ditransitive verb in Liko is -pá- 'give'. The 
beneficiary or goal is the first object after the verb and is obligatorily represented 
verb-internally by object agreement. In (8.8), the object prefix agrees with the first 
object, the beneficiary mbʊnyákɩ. The patient líso occupies the second position 
following the verb and does not take agreement: 
(8.8) mu-kó á- pá mbʊnyákɩ líso 
 1-woman 3SGp:1.O-give:FV 1a.husband:3SG.POSS 5:eye 
 'The woman gave her husband the eye.' (T2006.10) 

 
Other examples of 'to give' in which the goal or beneficiary is not expressed as a 
noun following the verb, but only as an object prefix, include: 
(8.9) a-kɔńgɔ ́ nɔ ̌ a-tɩ-́pag-a má-ɓʊǵʊ kú-mbúso 
 1b-banana shoot 1.DEM.I 3SG-1PL.O-give:PLUR-FV 6-banana 17-back 
 'This banana shoot will give us bananas later.' (T2006.7) 

 
(8.10) ɓá-kã-́ pí-gʊ gʊtʊǵʊ líɓó lí-mwǒ áka400 
 3PL-NEG:1.O-give:FV.ANT-NEG even 5:water 5.ADJ-drinking CT 
 'They did not give him EVEN DRINKING WATER.' (T2006.2) 

 
(8.11) mó-do-kú kɛ-́ pá ɓo-tú kakɩ ́ 
 2PL-come:FV-DIR 9b:1SG.O-give:FV 2+9-clothes 3SG.POSS  
 'You (pl) come to give me his clothes.' (T2009.21) 

                                                   
 
400 The particle áka indicates contrast, see 8.6.2. The contrasted phrase is marked with 
underlining. In the free translation, it is marked with capitals. The surface tones on áka are 
H.L when the preceding tone is High, and L.H when the preceding tone is Low. 
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8.2.4 Derived two and three-place verbs 
The following extensions introduce an argument in the valency frame of the verb: 
Causative, Applicative and Benefactive. For a description and examples, see 7.11. 
 
a. Causative 
With the Causative extension, the causee role is introduced. An example of the 
Causative extension with a one-place verb is: 
(8.12) lɩ-syɛ ́ nɩ-́lɔ ́ ɓík-o kʊẃǎ ndɩ minó 
 5-day COP-5.DEM.I 3PLP:sit-FV thus P3 TRACE 
 ká-ǔ-pup-ís-ó-kú kʊńʊ ká mʊ-sɛngɩ ́
 9b-2.O-leave-CAUS-FV-DIR here PREP 3-village 
 'The day on which they sat to cause them [the boys] to leave towards the 

village.' (T2006.4) 
 
The Causative extension with a two-place verb: 
(8.13) ɓa-sambá ɓá-va i-títí, ɓó-do-kú noyú 
 2-circumcisor 3PLP-take:FV 9a-anthill 3PLP-come:FV-DIR with:9.PRO 
 ɓú-dung-is-o ɩwɛ a-bǎkɩ míkí iɓúnú na a-mákɩ 
 3PLP:2.O-carry- 

CAUS-FV 
2SG.PRO 1b-father: 

3SG.POSS 
1a.child 2PL.PRO and 1b-mother: 

3SG.POSS 
 'The circumcisors took an anthill, they came with it towards [you], they 

let them carry it, you the father of the child, you (pl) with his mother.'401 
(T2006.4) 

 
For the example in (8.14b), the basic verb -ɩga- 'return' is given in (8.14a): 
(8.14)a. na ká-ɩg-ǎ ká li-gubó ló-tíko 
 1SG:be 9b-return-FV PREP 5-work 5.ASS-9.field 
 'I am returning to the work of the field' 
b. babǎ a kám-ig-ís-ó má mákɩ 
 1a.father 3SG:be 9b:1.O-return-CAUS-FV 1a.brother:3SG.POSS 
 'Father is causing his brother to return.' 

                                                   
 
401 In the context, time reference is the past. The morphology and the surface tones indicate 
either Past or Future. 
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In (b), the causee is a class 1a noun. The epenthetic /m/ of the object prefix reveals 
the presence of the object prefix.  
 
b. Applicative 
The Applicative extension -ɩ- introduces an argument with the semantic role of 
patient or beneficiary. An example of the transitive verb -ndindil- 'tie up securely 
with a rope'402 without the Applicative extension is: 
(8.15) má mámɩ á-ndindil-ǒ ndɩ mɛḿɩ ́ ká lɩdʊlʊ ́ lá-ndáɓʊ 
 1a.brother: 

1SG.POSS 
3SGp:1.O-tie-FV P3 1a.goat PREP 5-post 5.ASS-9.house 

 'My brother tied up a goat at a doorpost of the house.' 
 
The Applicative extension introduces a beneficiary role to the valency of the verb:  
(8.16) má mámɩ á-ndindil-y-ǎ ndɩ mu-twótwo mɛḿɩ ́ ká lɩdʊlʊ ́
 1a.brother: 

1SG.POSS 
3SGp:1.O-tie- 
APPL-FV 

P3 1-blacksmith 1a.goat PREP 5-post 

 'My brother tied up a goat at a doorpost for the blacksmith.' 
 
Switching the position of the beneficiary and the patient renders the sentence 
semantically strange, because the first object is understood to be the beneficiary: 
(8.17) ??má mámɩ á-ndindil-y-ǎ ndɩ mɛḿɩ ́ mu-twótwo ká lɩdʊlʊ́ 
 1a.brother: 

1SG.POSS 
3SGP:1.O-tie- 
APPL-FV 

P3 1a.goat 1-blacksmith PREP 5-post 

 'My brother tied up the blacksmith at a doorpost for a goat.' 
 
If both the goal or beneficiary and the patient are human and only one is expressed, 
the sentence becomes ambiguous, as in: 
(8.18) má mámɩ á-ndindil-y-ǎ ndɩ mu-twótwo ká lɩdʊlʊ ́
 1a.brother:1SG.POSS 3SGP:1.O-tie-APPL-FV P3 1-blacksmith PREP 5-post 
 'My brother tied him up at a doorpost for the blacksmith.' / 

'My brother tied up the blacksmith at a doorpost for him.' 
 

                                                   
 
402 Possibly this verb form has a lexicalized Resultative extension -ɩl-. 
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In the following examples, -túndul- 'push, stimulate' is a transitive verb with the 
semantic roles of agent and patient. In (8.19a), the patient is the first object and is 
referenced by the object prefix. In (8.19b, c), with the Applicative extension, the 
beneficiary is the first object: 
(8.19)a. na ká- túndúl-ó kínga kó kpúmó 
 1SG:be 9b:1.O-push-FV 1a.bicycle PREP 9.hill 
 'I am pushing the bicycle up the hill.' 
b. na ká- túndúl-y-ó tɩtɛ ́ kínga kó kpúmó 
 1SG:be 9b:1.O-push-APPL-FV 1a.old person 1a.bicycle PREP 9.hill 
 'I am pushing the bicycle up the hill for the old person.' 
c. na ká-u-túndúl-y-ó ɓa-tɩtɛ ́ kínga kó kpúmó 
 1SG:be 9b-2.O-push-APPL-FV 2-old person 1a.bicycle PREP 9.hill 
 'I am pushing the bicycle up the hill for the old persons.' 

In (a), the object prefix agrees with kínga '1a.bicycle', whereas in (b), the object 
prefix refers to tɩtɛ ́'1a.old person' as can be seen by the change in the form of the 
object prefix in (c), where the first object is plural. 
 
The Causative and the Applicative extension may co-occur. In the following 
example, the derived verb -igis- 'cause to return' has the Applicative extension -ɩ-, 
which gives má mákɩ 'his brother' the semantic role of goal. The first object is the 
goal with object prefix agreement, as in (8.20a). A different number of extensions 
or a lack of an agreeing object prefix renders the clause ungrammatical (8.20b-d). 
  
(8.20)a. babǎ a kám-ig-ís-y-ó má mákɩ mbakʊ ́
 1a.father 3SG:be 9b:1.O-return-CAUS-APPL-FV 1a.brother: 

3SG.POSS 
9.knife 

 'Father is returning the knife to his brother.' 
b. *babǎ a kó-ig-is-ó má mákɩ mbakʊ ́
   9b-return-CAUS-FV   
c. *babǎ a kám-ig-is-ó má mákɩ mbakʊ ́
   9b:1.O-return-CAUS-FV   
d. *babǎ a kó-ig-ís-y-ó má mákɩ mbakʊ ́
   9b-return-CAUS-APPL-FV   

In (b), an object prefix is missing for the first object má mákɩ. In (c), there is no 
place for two objects in the argument structure of the verb. Two objects are 
possible when the verb has both the Causative and the Applicative extension, but 
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(d) is still ruled out, because there is no object prefix. Only (a) is correct, which 
has both the Applicative extension and the class 1 object prefix which agrees with 
má mákɩ. 
 
c. Benefactive 
The Benefactive extension -ɩlɩ- indicates that the action is beneficial to a person or 
disadvantageous to a person. The Benefactive extension introduces an argument 
with the semantic role of beneficiary. When the basic verb is transitive, the object 
of the basic verb loses its status as first object when the verb has the Benefactive 
extension, as is apparent by the position of the object with respect to the verb and 
by the agreement relation with the object prefix. The new argument of the verb, 
derived with the Benefactive extension, takes over as first object. 
 
An example of the Benefactive extension with a one-place verb, -kú- 'die': 
(8.21) tá- kw-íly-á ndɩ gbukó 
 1PLp:1.O-die-BEN-FVP P3 1a.rat 
 'We died for rat.' (T2006.3) 

 
The Benefactive extension with a two-place verb licences a third argument, e.g.  
-pik- 'build': 
(8.22) ɓa-bʊgwákɩ ɓú-pik-ily-o ɓa-tɩtɛ ́ ndáɓʊ 
 2-uncle:3SG.POSS 3PL:2.O-build-BEN-FV 2-old person 9.house 
 'His uncles built / will build403 a house for the old people.' 

8.2.5 Object agreement 
Liko is a so-called OM-1 language (Bearth 2003:124): a maximum of one object 
marker inside the verb form is allowed. Liko shows grammatical agreement 
between the first object and the object prefix in the verb. Object marking is not 
related to semantic roles or to the semantic category of the noun. Agreement is 
limited to speech participants, third person singular and plural and to all and only 

                                                   
 
403 For ɓú-pik-ily-o, it is not possible to know whether a prefixal H tone of the Past TAM 
melody is present; if it is present, it merges with the underlying H tone of the third person 
plurla subject prefix ɓá-. 
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nouns belonging to classes 1 and 2 (including subclasses of class 1); for these, 
object agreement is compulsory. 
 
(8.23)a.  ɓa-wanzá ɓá- ʊ́l-a mɛḿɩ ́
 2-boy 3PL:1.O-untie-FV 1a.goat 
 'The boys untied / will untie the goat.' 
b.  ɓa-wanzá  ɓʊ́-kʊ́l-a ɓa-mɛḿɩ ́
 2-boy 3PL:2.O-untie-FV 2-goat 
 'The boys untied / will untie the goats.' 

In (a), the L tone of the class 1 object prefix ˋ- has caused the non-automatic 
downstep, see 4.6.5. In (b), ɓʊ-́ is the realization after V1-elision of the vowel of 
the third person plural subject prefix ɓá- preceding the class 2 object prefix ʊ-̌. The 
L tone of the object prefix contour has been removed through L-tone deletion, see 
4.6.4. 
 
The following examples show that the verb form contains only one object prefix in 
clauses where two objects occur. The first object (if it belongs to classes 1 or 2) is 
coded in the verb form by means of an object prefix, but the second object is not 
agreement marked. 
 
(8.24)a. Ɓókótógi u-kúmb-o ɓo-míkí 
 "Ɓókótógi" 3SG:2.O-carry-FV 2-child 
 'Ɓokotogi will carry the children.' 
b. Ɓókótógi a-kúmb-ily-a má mákɩ ɓo-míkí 
 "Ɓókótógi" 3SG:1.O-carry-BEN-FV 1a.sister:3SG.POSS 2-child 
 'Bokotogi will carry the children for her sister.' 

 
An object prefix in the verb form which agrees with the second object ɓomíkí, 
renders the sentence ungrammatical:  
(8.25) *Ɓókótógi ǔ-kúmb-ily-o má mákɩ ɓo-míkí 
 "Ɓókótógi" 3SG:1.O:2.O-carry-BEN-FV 1a.sister:3SG.POSS 2-child 
 Int. 'Bokotogi will carry the children for her sister.' 

 
If the beneficiary is the first person plural (object prefix tɩ-́), there is no sign of the 
class 2 object prefix (ʊ-̌):  
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(8.26) Ɓókótógi a-tí-kúmb-ily-o ɓo-míkí 
 "Ɓókótógi" 3SG-1PL.O-carry-BEN-FV 2-child 
 'Bokotogi will carry the children for us.' 

 
A remarkable characteristic of object agreement in Liko is that it concerns persons 
and all and only nouns of class 1 (and its subclasses) and 2. 
 
In the following examples, the object séléngúndé 'peanut' is inanimate, but it 
belongs to class 1a, as can be seen from the class 1 concord of the associative 
prefix wa: 
(8.27)  ɓɩ-́dɩgɩ-dɩgɩ ábɛ séléngúndé wa-í-kpoɗoyíya 
 MOD-soft like 1a.peanut 1.ASS-1c-peanut butter cooked in water 
 'soft like peanuts of peanut butter cooked in water' 

 
When séléngúndé is the object of the verb, this is obligatorily marked by means of 
an object prefix because of its noun-class membership. In (8.28a), the presence of 
the class 1 object prefix blocks further [+ATR] spreading and causes non-
automatic downstep. Because the object in (8.28b), ndikó, belongs to class 9, there 
is no object agreement and no object prefix is allowed: 
(8.28)a.  na ká- kóng-ó séléngúndé (*kó-kóng-ó) 
 1SG:be 9b:1.O-roast-FV 1a.peanuts (9b-roast-FV) 
 'I am roasting peanuts.' 
b.  na kó-kóng-ó ndikó (*ká- kóng-ó) 
 1SG:be 9b-roast-FV 9.palm-nut pit (9b:1.O-roast-FV) 
 'I am roasting palm-nut pits.' 

 
In similar examples, the object prefix is obligatorily present in (8.29a) and 
obligatorily absent in (8.29b): 
(8.29)a.  ɓá kʊ́wǎ ndɩ ká- mbímb-ó séléngúndé 
 3PLp:be thus P3 9b:1.O-throw-FV 1a.peanuts 
 'They were throwing peanuts.' 
b.  ɓá kʊ́wǎ ndɩ kó-mbímb-ó ma-tá-mʊ 
 3PLp:be thus P3 9b-throw-FV 6-stone-6 
 'They were throwing stones.' 

In (a), kómbímbó is not acceptable, whereas in (b), ká mbímbó is not allowed. 
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These examples and the ones given in the section on object prefixes (see 7.5.1) 
indicate that animacy and/or definiteness hierarchies which are useful to describe 
differences in object marking in other Bantu languages, e.g. human > animate > 
inanimate, do not apply in Liko. Classes 1 (and its subclasses) and 2 are the only 
classes for which object prefixes exist and all class 1 and 2 nouns require an object 
prefix regardless of their semantic category. Object marking for objects of other 
classes is ungrammatical. According to Riedel (2009:52): "This object marking 
pattern is highly unusual in the Bantu language family, with Makhuwa being the 
only language known to exhibit such a pattern."  
 
Other examples with two-place verb forms in which there is no object prefix are 
given below. In the first and the second example, with a class 5 object, the absence 
of the object prefix can be seen from the fact that there is no non-automatic 
downstep. In the third example too, with a class 6 object, there is no object prefix. 
 
(8.30) Ikóɓú ʊ́kán-á lɩ-yʊ ̌ ka-Zangɩýá 
 "Ikoɓu" 3SGp:hear-FVP 5.voice GEN-"Zangɩya" 
 'Ikoɓu heard the voice of Zangɩya.' (T2009.21) 

 
(8.31) i-ngbo ó-tíndik-o lɩ-tɔḿbʊ ́ ngángá  yɩ-́sáá na mʊ-kʊndʊ́ 
 1c-aardvark 3SGp-push-FV 5-ground 9.time 9.NUM- 

three 
with 3-tail 

 'Aardvark pushed the ground three times with [its] tail. (T2006.3) 
 
(8.32) a-bǎkɩ mʊ-sɩká nɔ ̌ á-va ma-lɩĺɩ ́ mɔ ́
 1b-father:3SG.POSS 1-girl 1.DEM.I 3SGp-take:FV 6-food 6.DEM.I 
 'The father of this girl took this food.' (T2006.2) 

8.2.6 Passive 
Liko does not have passive morphology or syntax. There is no reflex of the 
reconstructed Proto-Bantu passive extension *-ʊ- or *-ibʊ- (Stappers 1967). 
Passivization in the sense of promoting an object to subject and demoting the 
subject does not occur. Liko uses either an indefinite personal form, the third 
person plural subject prefix ɓá-, or a combination of the reflexive prefix ɩ-̌ and the 
Causative extension -is- to express passive meaning. The first method is not 
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frequent and the second is rare. The language prefers active sentences. In sentences 
where the agent is present, an active construction must be used. 
 
Examples of the use of an indefinite personal form are given first. In the one 
below, details are given about the way in which the body of a dead man is cooked: 
(8.33) ma-kɔlɔ ́ kakɩ ́ ɓámb-a na sʊ́yɩ 
 6-meat 3SG.POSS 3PLP:cook-FV with 9.seed 
 'His meat was prepared with condiment.' (T2006.2) 

 
In a story where a man was put to the test to see if he could endure hunger: 
(8.34) á-syɛ ́ mʊ-kaká, kánɩ ́ ɓá-kã-́ pí-gʊ gʊtʊǵʊ 
 3SGp-pass:FV 1.ADJ-alone when 3PL-NEG:1.O-give:FV.ANT-NEG even 
 líɓó lí-mwǒ áka 
 5:water 5.ADJ-drinking CT 
 'He passed [the night] alone, while they did not give him / he was not 

given EVEN DRINKING WATER.' (T2006.2) 
 
In the following two examples, both an active and a passive interpretation are 
possible. At the end of a technical instruction about making body oil from palm-nut 
pits, the author adds: 
(8.35) mbɩkɛ ́ yi nɩ-́yɔ ́ ɓó-kóng-og-o minó ndikó 
 9.pot 9.DEM.III COP-9.DEM.I 3PLP-roast-PLUR-FV TRACE 9.palm-nut pit 
 ɓó-mw-ág-a-tʊ́ minó líɓó kyɛ ́ o-lumb-is-og-o 
 3PLP-drink-PLUR-FV-INS TRACE 5:water because 3SG-smell-CAUS-PLUR-FV 
 líɓó lá-nza kʊǵbɛ 
 5:water 5.ASS-good very 
 '[From] that pot (exclusive) in which palm-nut pits were roasted,  

they often drink water / often water is drunk, because because it will 
cause the water to taste very good.' (T2006.6) 

 
An indefinite personal form is often used when a name of a character in a story is 
given. In the following example, the full name of the man is Kíbigʊ Kádɩgyǎ404.  
                                                   
 
404 The meaning of Ø-kíb-i-gʊ ká-dɩgy-ǎ, 3SG-NEG:know-FV-NEG 9b-say-FV, is: 'he will not 
know [what] to say'. 
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(8.36) ká ɓu-kúɗú ɓá-kɔg-ɔ kʊ́wǎ ndɩ ɓɛ ́ Kíbi 
 PREP 14-shortness 3PLP-cut:PLUR-FV thus P3 COMP "Kibi" 
 'For shortness, people cut it [short] to Kibi / it was cut [short] to Kibi.' 

(T2006.1) 
 
Examples of possible passive interpretation in relative clauses: 
(8.37)a. natókónyǐ ɓi nɩńɛ ́ nɩ-́nɔ ̌
 1SG-find-FV.ANT P1 1a.aunt COP-1.DEM.I 
 ɓá-sʊkʊś-ɩĺy-á ndʊ́kʊ ɓo-tú 
 3PLP-wash-BEN-FVP P2 2+9-clothes 
 'I found the aunt for whom they washed clothes / for whom clothes 

were washed.' (T2006.6) 
b. ǎ ndɩ nɩ-́sɔ ́
 3SGp:be P3 COP-19.DEM.I 
 ɓá-lɩk-y-ag-ǎ ndɩ ɓɛ ́ sɩ-mʊ́ɩ-́sɔ sí-dingǐ 
 3PLP-call-APPL-PLUR-FV P3 COMP 19-circumcision-19 19.ADJ-big 
 'There was that one which they called / which was called big 

circumcision.' (T2006.4) 
 
The other strategy to express passive meaning is by indirect causation, a 
combination of the reflexive prefix and the Causative extension, e.g.: 
(8.38)a. ni-ɓún-ís-i 
 1SG:REFL-break-CAUS-FV.ANT 
 'I was broken.' (I let myself be broken) 
b. ta ká-i-tóng-ís-ó 
 1PL:be 9b-REFL-count-CAUS-FV 
 'We are counted.' (We let ourselves be counted) 
c. mamá a ká-ǐ-bum-ís-ó 
 1a.mother 3SG:be 9b-REFL-hit-CAUS-FV 
 'Mother is beaten.' (Mother let herself be beaten) 

 
If the agent is human and expressed in the sentence, using the reflexive prefix in 
combination with the Causative extension is not possible. The sentence has to be 
rephrased in order to make the agent the syntactic subject: 
 
 



Topics in Syntax 
 

 

413 

(8.39)a. *mamá a ká-i-bum-ís-ó na a-lʊ́kʊ ́ nɔ ̌
 1a.mother 3SG:be 9b-REFL-hit-CAUS-FV with 1b-man 1.DEM.I 
 Int. 'Mother is beaten by that man.' 
b. a-lʊ́kʊ́ nɔ ̌ a ká-bʊm-á mamá 
 1b-man 1.DEM.I 3SG:be 9b:1.O-hit-FV 1a.mother 
 'That man is beating mother.' 

 
In eliciting sentences using French passive voice with a human agent as input, Liko 
speakers consistently return to active sentences in which the agent is the syntactic 
subject. For example, in the question and answer Par qui as-tu été enseigné 
aujourd'hui ? 'By whom were you taught today?' and J'ai été enseigné par la 
nouvelle enseignante 'I was taught by the new teacher', only the translations given 
below are acceptable for the question and the answer: 
(8.40)a. wanɩ ́ nɔ ̌ u-wonís-íl-i na lɩ-syɛ ́ nɩ-́lɩ ? 
 1a.who 1.DEM.I 3SG:2SG.O-teach-RES-FV.ANT with 5-day COP-5.DEM.II 
 'Who taught you today?' 
b. mu-wonisilí wa-mbɩya nɔ ̌ e-wonís-íl-i 
 1-teacher 1.ASS-new 1.DEM.I 3SG:1SG.O-teach-RES-FV.ANT 
 'The new teacher taught me.' 

 
In translated biblical texts, the passive voice is always an active sentence in Liko if 
the agent is a person as in (8.41a) and nearly always if the agent is not a person as 
in (8.41b): 
(8.41)a. Kúnzi á- tík-o-kú malaíka Gabilieli 
 1a.God 3SGp:1.O-send-FV-DIR 1a.angel "Gabilieli" 
 'God sent the angel Gabriel.' (translated Luke 1:26) 
b. lɩ-ɓɛśɛ á-wany-a kʊ́wǎ ndɩ ɩyɩ ́
 5-fate 3SGp:1.O-show-FV thus P3 1.PRO 
 'The lot pointed at him.' (translated Luke 1:9) 

 
An example in which the agent is not a person and where the reflexive prefix 
combined with the Causative extension is used, is: 
(8.42) mu-kó ɓé-motí nɩ-́nɔ ̌ míkakɩ ́ mu-kó yǐ 
 1-woman 1.NUM-one COP-1.DEM.I 1a.child:3SG.POSS 1-woman 1.DEM.III 

  



Chapter 8 
 
414 

 ǎ ndɩ ká-ǐ-gyogy-ís-ó na lɩ-lɩmbá 
 3SG-be P3 9b-REFL-suffer-CAUS-FV with 5-spell 
 'A woman whose daughter was suffering from a spell.' (translated Mark 

7:25)  
The agent is expressed following na. 

8.2.7 Locatives 
Locatives phrases are not part of the argument structure of Liko verbs. They are 
obligatorily preceded by a preposition, unless they are locative nouns. 
Relativization or left-dislocation of prepositional phrases or class 17 locative nouns 
requires the trace particle, which distinguishes adjuncts from objects (see 8.4 and 
8.6.3). 
 
In (8.43), leaving out the preposition renders the sentence ungrammatical: 
(8.43)a. kasɩńzɩ ́ ó-pup-ǎ ndɩ ká lɩ-ɓɩśɔ 
 1a.mouse 3SGp-come out-FV P3 PREP 5-hole 
 'The mouse came out of the hole [in the ground].' 
b. *kasɩńzɩ ́ ó-pup-ǎ ndɩ lɩ-ɓɩśɔ 
 1a.mouse 3SGp-come out-FV P3 5-hole 

 
Increasing the valency of the verb by means of the Applicative extension, as in 
(8.44b), does not make the preposition redundant nor licence the locative phrase:  
(8.44)a. mu-kó míkǎmɩ ó-pup-ǎ ndɩ ká ndáɓʊ 
 1-woman 1a.child:1SG.POSS 3SGp-come out-FV P3 PREP 9.house 
 'My daughter-in-law came out of the house.' 
b. *mu-kó míkǎmɩ ó-pup-y-ǎ ndɩ ndáɓʊ 
 1-woman 1a.child:1SG.POSS 3SGp-come out-APPL-FV P3 9.house 

 
If -pup- 'come out' has the Applicative extension, the additional argument 
designates a reason, e.g.: 
(8.45) mu-kó míkǎmɩ ó-pup-y-ǎ ndɩ ká ndáɓʊ 
 1-woman 1a.child:1SG.POSS 3SGp-come out-APPL-FV P3 PREP 9.house 
 ká-ɩnd-á ká li-bí kakɩ ́
 9b-go-FV PREP 5-clan 3SG.POSS 
 'My daughter-in-law came out of the house to go to her family.' 
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In the following pair, the noun in the prepositional phrase becomes the patient of 
the verb with the Applicative extension: 
(8.46)a. ɓa-mbánzʊ ́ ɓi nɩ-́ɓɔ ́ ɓó-sil-ǎ ndɩ ka-a-bɩlɩ ́
 2-person 2.DEM.III COP-2.DEM.I 3PLP-arrive-FV P3 GEN-1b-demon 
 'Those men arrived at [the place of] a demon.' 
b. ɓa-mbánzʊ ́ ɓi nɩ-́ɓɔ ́ ɓá-sil-y-ǎ ndɩ a-bɩlɩ ́
 2-person 2.DEM.III COP-2.DEM.I 3PLP:1.O-arrive- 

APPL-FV 
P3 1b-demon 

 'Those men met a demon.' 

8.3 Word order 

8.3.1 Clause structure 
The canonical word order in Liko is S V O1 O2 (Xn), where "S" refers to the 
subject, "O1" to the first object, "O2" to the second object and "X" to adjuncts. First 
the order of the arguments S, O1 and O2 with respect to each other and the verb is 
described. S, O1 and O2 are full NPs or pronouns. Agreement prefixes for subjects 
and for class 1 or 2 first objects are obligatory, regardless of whether S and O1 are 
full NPs or not. 
 
The clause in (8.47a) shows that a full subject NP can be left out, but not the 
subject prefix on the verb, as in (8.47b): 
(8.47)a. o-gbit-í ɓi ɓu-síyo  nɩ-́ɓɔ ́
 3SG-fell-FV.ANT P1 14-tree COP-14.DEM.I 
 'He felled this tree.' 
b. *Makánzyálá gbit-í  ɓi ɓu-síyo  nɩ-́ɓɔ ́
 "Makánzyálá" fell-FV.ANT P1 14-tree COP-14.DEM.I 
 Int. 'Makanzyala felled this tree.' 

 
This is also the case with respect to objects. The clause in (8.48a) shows that a full 
object NP can be left out, but not the object prefix on the verb, which agrees with 
the first object if it belongs to classes 1 or 2, as in (8.48b): 
(8.48)a. a ká-ǔ-kpumy-ó kó tutú 
 3SG:be 9b-2.O-hunt-FV PREP 9.forest 
 'He is hunting them in the forest.' 
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b. *a kó-kpumy-ó ɓa-nyamá kó tutú 
 3SG:be 9b-hunt-FV 2-animal PREP 9.forest 
 Int. 'He is hunting animals in the forest.' 

 
An object preceding the subject or the verb is rare. The only case found in the ten 
texts in Appendix 1 is: 
(8.49) mu-kúmbó kakʊ́, wã-maky-a ká ndáɓʊ kakʊ́ 
 1-luggage 2SG.POSS 2SG:1.O-put in-FV PREP 9.house 2SG.POSS 
 'Your belongings, you will store in your house.' (T2006.8) 

In this text, the object NP is the topic of the clause and it is followed by a short 
pause. Preposing like this is analysed as an external topic (see 8.6.4).  
 
If both subject and object have the same person and number features, the subject 
and object prefixes do not identify their syntactic function and semantic role. In 
these cases of unresolved ambiguity, speakers of the language fall back on the 
canonical SVO word order to disambiguate the meaning of the sentence. If a clause 
contains more than one object, the order of the objects is determined by the 
valency of the verb. With three-place verbs, the object with the beneficiary role 
occurs as the first object. It is followed by the patient or goal. When a semantic 
role is introduced in the valency of a two-place verb, the object with the new 
semantic role obligatorily is the first object. 
 
Time adverbials follow the verb form and occur preceding the first object. In 
(8.50a), nzʊýɩ follows the verb and the time adverbial °Hndɩ. (8.50b) is 
ungrammatical, because the object precedes the time adverbial: 
(8.50)a. ɓa-tɩtɛ ́ ɓí-tikil-og-ǎ ndɩ nzʊýɩ na mo-lingó mó-pi 
 2-old person 3PLP:REFL-rub- 

PLUR-FV 
P3 9.body with 6-oil 6.ASS-black 

 'The forefathers used to rub their bodies in with black oil.' (T2006.6) 
b. *ɓa-tɩtɛ ́ ɓí-tikil-og-ǒ nzʊýɩ ndɩ na mo-lingó mó-pi 
 2-old person 3PLP:REFL-rub- 

PLUR-FV 
9.body P3 with 6-oil 6.ASS-black 
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The object prefix in the verb form agrees with the first object if the object belongs 
to classes 1 or 2. Object agreement does not allow a first object to follow another 
object in the clause: 
(8.51)a. mu-tiky-íly-ó míkí mu-pumí 
 1.O-close-BEN-FV.IMP 1-child 3-door 
 'Close the door for the child!' 
b. *mu-tiky-íly-ó mu-pumí míkí 
 1.O-close-BEN-FV.IMP 3-door 1-child 

In (a), the first object with beneficiary role, míkí, is the first object following the 
verb with the Benefactive extension. Although míkí is referenced by the class 1 
object prefix mʊ-405, inversion of the two objects as in (b) is ungrammatical. The 
object mupumí of the basic transitive verb is not allowed to occur as the first object 
when the verb has the Benefactive extension. 
 
In (8.52a), ɓanyamá is the first object following the basic transitive verb. In 
(8.52b), where the verb has the Benefactive extension, the beneficiary, bʊgwákɩ, is 
the first object. The object prefix agrees with the first object. (8.52c) is 
ungrammatical, because the new argument of the Benefactive extension is not the 
first object. 
 
(8.52)a. Tapanóɓi a ká-ǔ-kpumy-ó ɓa-nyamá 
 Tapanoɓi 3SG:be 9b-2.O-hunt-FV 2-animal 
 'Tapanoɓi is hunting animals.' 
b. Tapanóɓi a ká-kpumyíly-ó bʊgwákɩ ɓa-nyamá 
 Tapanoɓi 3SG:be 9b:1.O-hunt:BEN-FV 1a.uncle:3SG.POSS 2-animal 
 'Tapanoɓi is hunting animals for his uncle.' 
c. *Tapanóɓi a ká-kpumyíly-ó ɓa-nyamá bʊgwákɩ 
 Tapanoɓi 3SG:be 9b:1.O-hunt:BEN-FV 2-animal 1a.uncle:3SG.POSS 
 Int. 'Tapanoɓi is hunting animals for his uncle.' 

 

                                                   
 
405 The class 1 object prefix in Imperative forms. 
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Adjuncts follow objects the canonical word order, as stated at the beginning of this 
section. Nouns functioning as adjuncts are usually preceded by a preposition. Class 
17 locative nouns occur as adjuncts without a preposition.  
 
It is ungrammatical to have an adjunct between the verb and an object. ká nzʊýɩ 'on 
the body' has to follow the object: 
(8.53)a. mo-lingó  mó-pi a-mwɔǵ-ɔ pándá ká nzʊýɩ 
 6-oil  6.ASS-black 3SG/PL-kill:PLUR-FV 9.scabies PREP 9.body 
 'Black oil will kill scabies on the body.' 
b. *mo-lingó  mó-pi a-mwɔǵ-ɔ ká nzʊýɩ pándá 
 6-oil  6.ASS-black 3SG/PL-kill:PLUR-FV PREP 9.body 9.scabies 

 
(8.54)a. Tapanóɓi a ká-ǔ-kpumy-ó ɓa-nyamá kó tutú 
 "Tapanoɓi" 3SG:be 9b-2.O-hunt-FV 2-animal PREP 9.forest 
 'Tapanoɓi is hunting animals in the forest.' 
b. Tapanóɓi a ká-kpumy-íly-ó bʊgwákɩ ɓa-nyamá kó tutú 
 "Tapanoɓi" 3SG: 

be 
9b:1.O-hunt-BEN- 
FV 

1a.uncle: 
3SG.POSS 

2-animal PREP 9.forest 

 'Tapanoɓi is hunting animals in the forest for his uncle.' 
c. *Tapanóɓi a ká-kpumy-íly-ó bʊgwákɩ kó tutú ɓa-nyamá 
 "Tapanoɓi" 3SG: 

be 
9b:1.O-hunt-BEN- 
FV 

1a.uncle: 
3SG.POSS 

PREP 9.forest 2-animal 

(c) is ungrammatical because an adjunct, in this case kó tutú 'in the forest', cannot 
occur between two objects. 
 
(8.55)a. Makánzyálá406 o-gbit-í ɓi ɓu-síyo  nɩ-́ɓɔ ́
 "Makánzyálá" 3SG-fell-FV.ANT P1 14-tree COP-14.DEM.I 
 'Makanzyala felled this tree.' 

                                                   
 
406 Makánzyálá is a name for a boy who is born after his mother has given birth to twins. 
Another name for a boy born after twins is Nɛɓ́ɛśɛ.́ When a girl is born after twins, she will 
be called Ɓókótógi or Ingulí. Common names for twins are Nángáa, Sengí (for boys) and 
Nató, Ídeyí (for girls). In the case of triplets, the third child is given one of the names just 
mentioned for a child who is born after twins. In Liko, the word for 'a twin' is cl. 1 mu-ɓígi 
and the word for 'a child born after twins' is cl. 1 mʊ-kɔɓɔ.́ 
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b. Makánzyálá o-gbit-í ɓi ɓu-síyo  nɩ-́ɓɔ ́ kʊ-́syákʊ 
 "Makánzyálá" 3SG-fell-FV.ANT P1 14-tree COP-14.DEM.I 17-side across 

a river 
 'Makanzyala cut this tree across the river.' 
c. Makánzyálá o-gbit-í ɓi ɓu-síyo  nɩ-́ɓɔ ́
 "Makánzyálá" 3SG-fell-FV.ANT P1 14-tree COP-14.DEM.I 
 kʊ-́syákʊ í syéyikǔɓi na ɓʊ-gɔgɔ ̌ na gbɔnɩ ́ kakɩ ́
 17-side across a river yesterday with 14-sunset with 9.axe 3SG.POSS 
 'Makanzyala felled this tree across the river yesterday evening with his 

axe.' 
 
The order of adjunts is variable, as the following examples show. (8.56b - g) are 
acceptable ways to continue the clause started in (8.56a): 
(8.56)a. Tapanóɓi a ká-ǔ-kpumy-ó ɓa-nyamá 
 Tapanoɓi 3SG:be 9b-2.O-hunt-FV 2-animal 
 'Tapanoɓi is hunting animals … 
b. kó tutú ká ɓʊ-sɔɓ́ɩ ɓá-dɛ na ɓɛ-nvá ɓá-ɓǎ 
 PREP 9.forest PREP 14-sunrise 14.ASS-cold with 2:1c-dog 2.NUM-two 
 … in the forest at daybreak with two dogs.' 
c. kó tutú na ɓɛ-nvá ɓá-ɓǎ ká ɓʊ-sɔɓ́ɩ ɓá-dɛ 
 PREP 9.forest with 2:1c-dog 2.NUM-two PREP 14-sunrise 14.ASS-cold 
 … in the forest with two dogs at daybreak.' 
d. ká ɓʊ-sɔɓ́ɩ ɓá-dɛ kó tutú na ɓɛnvá ɓá-ɓǎ 
e. ká ɓʊ-sɔɓ́ɩ ɓá-dɛ na ɓɛnvá ɓá-ɓǎ kó tutú 
f. na ɓɛnvá ɓá-ɓǎ kó tutú ká ɓʊ-sɔɓ́ɩ ɓá-dɛ 
g. na ɓɛnvá ɓá-ɓǎ ká ɓʊ-sɔɓ́ɩ ɓá-dɛ kó tutú 

The preferred orders are location, time and manner as in (b), or location, manner 
and time as in (c). 
 
Adjuncts which express manner or instruments generally occur at the end of the 
clause. The following sentence exemplifies an instrument adjunct: 
(8.57) Makánzyálá o-gbit-í ɓu-síyo  kʊ-́syákʊ 
 "Makánzyálá" 3SG-fell-FV.ANT 14-tree 17-side across a river 
 na gbɔnɩ ́ kakɩ ́ yá-mbɩya 
 with 9.axe 3SG.POSS 9.ASS-new 
 'Makanzyala felled this tree with his new axe across the river.' 
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Clauses with instrument adjuncts occurring before other adjuncts are judged not 
well-formed. In particular when instrument adjuncts are longer phrases, the clauses 
are deemed hardly acceptable, as in: 
(8.58) ??Makánzyálá o-gbit-í ɓi ɓu-síyo  nɩ-́ɓɔ ́
 "Makánzyálá" 3SG-fell-FV.ANT P1 14-tree COP-14.DEM.I 
 na gbɔnɩ ́ kakɩ ́ yá-mbɩya kʊ-́syákʊ í syéyikǔɓi 
 with 9.axe 3SG.POSS 9.ASS-new 17-side across a river yesterday 
 'Makanzyala felled this tree with his new axe across the river yesterday.' 

 
When asked to split clauses with three adjuncts as in (8.59a) in two, the Liko 
consultants prefer to put the instrument adjunct in a separate clause (8.59b, c). 
 
(8.59)a. Tapanóɓi a ká-kpumy-íly-ó bʊgwákɩ ɓa-nyamá 
 "Tapanoɓi" 3SG:be 9b:1.O-hunt-BEN-FV 1a.uncle:3SG.POSS 2-animal 
 kó tutú ká ɓʊ-sɔɓ́ɩ ɓá-dɛ na ɓɛ-nvá ɓá-ɓǎ 
 PREP 9.forest PREP 14-sunrise 14.ASS-cold with 2:1c-dog 2.NUM-two 
 'Tapanoɓi is hunting animals for his uncle in the forest at daybreak with 

two dogs.' 
b. Tapanóɓi a na ɓɛ-nvá ɓá-ɓǎ. 
 "Tapanoɓi" 3SG:be with 2:1c-dog 2.NUM-two 
 A ká-kpumy-íly-ó bʊgwákɩ ɓa-nyamá 
 3SG:be 9b:1.O-hunt-BEN-FV 1a.uncle:3SG.POSS 2-animal 
 kó tutú ká ɓʊ-sɔɓ́ɩ ɓá-dɛ. 
 PREP 9.forest PREP 14-sunrise 14.ASS-cold 
 'Tapanoɓi has two dogs. He is hunting animals for his uncle in the forest 

at daybreak.' 
c. Tapanóɓi a ká-kpumy-íly-ó bʊgwákɩ ɓa-nyamá 
 "Tapanoɓi" 3SG:be 9b:1.O-hunt-BEN-FV 1a.uncle:3SG.POSS 2-animal 
 kó tutú ká ɓʊ-sɔɓ́ɩ ɓá-dɛ. 
 PREP 9.forest PREP 14-sunrise 14.ASS-cold 
 A na ɓɛ-nvá ɓá-ɓǎ. 
 3SG:be with 2:1c-dog 2.NUM-two 
 'Tapanoɓi is hunting animals for his uncle in the forest at daybreak. He 

has two dogs.' 
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8.3.2 Non-verbal clauses 
Simple clauses without finite verbs are used mainly for descriptive purposes. Non-
verbal clauses are also attested for direct speech, questions and the introduction of 
proper names. 
 
A verb may be absent when some characteristic of the subject is expressed by a 
property denoting predicate: 
(8.60) mʊ-lʊḱʊ́ mazyazyá ká lɩ-mbɛngɩ ́ ɓɩ-́kpɩ ́
 1-man 9.joy PREP 5-heart MOD-full 
 'The man [was] happy to the heart full.', i.e. overjoyed (T2006.1) 

 
(8.61) tíko ɓɩ-́bɛɗɛ-bɛɗɛ na ma-lɩĺɩ ́
 9.field MOD-full up to the brim with 6-food 
 'The field [was] completely full with food.' (T2006.3) 

 
(8.62) ɓɛ ́kyɛ ́ ɩ-́kwɩ ̌ yɩ-ná, ɓa-mbánzʊ ́ ɓí-kókóló-kokolo 
 in order that 9a-looking 9.DEM.II-CONN 2-person MOD-stiff 
 'By looking, people [had become] stiff.' (T2006.1) 

 
(8.63) ɓʊ́-galóɓi, mʊ́-nzɔnzɔ ́ ma-ndǎ 
 14-the day after tomorrow 3-long rain 6.ASS-long 
 'The next day, [there was] a long rain.' (T2006.1) 

 
Property denoting predicates can be preceded by a suppletive form of the verb 'to 
be' (see 7.13). Examples include: 
(8.64)a. pɛt́ɛ ́ a yó-wililǐ 
 9.ring 3SG:be 9.ASS-round 
 'The ring is round.' 
b. lɩ-gʊgʊ́ a lá-nza 
 5-reed 3SG:be 5.ASS-good 
 'It is a nice reed.' 
c. ɓa-né-kókó ɓá ɓá-pʊ̌pʊ 
 2-na:1-instrument 3PL:be 2.ASS-hard 
 'Nekokos (musical instruments) are very hard (sound).' 
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d. li-gubó lá-saɓǔni a lá-pʊp̌ʊ kʊǵbɛ 
 5-work 5.ASS-1a.soap bar 3SG:be 5.ASS-hard very 
 'The work (making) of a soap bar is very difficult.' (T2006.5) 

 
In comparisons involving ábɛ 'like', the finite form of a verb may be left out. In 
(8.65a), a suppletive form of the verb 'to be' is present; in (8.65b), it is not: 
(8.65)a. míkí mu-kó yǐ a ábɛ sɩɓ́á 
 1a.child 1-woman 1.DEM.III 3SG:be like 9.ivory 
 'A girl is like ivory.' (T2006.9) 
b. míkí mu-kó yǐ ábɛ pápá yá-li-kíngo. 
 1a.child 1-woman 1.DEM.III like 9.calabash 9.ASS-5-raffia. 
 'The girl [is] like raffia calabash.', i.e. with a very soft skin (T2006.2) 

 
In non-verbal clauses, the descriptive element can be an ideophone which 
expresses the action involved, as in:  
(8.66) kánga ɓɩ-́wɛɛɛ 
 1a.guinea-fowl MOD-"wɛɛɛ" 
 'The guinea-fowl "wɛɛɛ".', i.e. raised itself 

 
(8.67) líso ɓɩ-́nzɛɛɛ ɓɩ-́kɛ ká mu-lígi 
 5:eye MOD-"nzɛɛɛ" MOD-"kɛ" PREP 3- vine 
 'The eye "nzɛɛɛ" "kɛ" against a vine.', i.e. it fell and broke against a vine 

 
(8.68) sukopí míso ɓɩ-́nganganga 
 1a.leopard 6:eye MOD-stare wide-eyed 
 'Leopeard [looked] eyes wide open.' (T2006.3) 

 
In equative sentences, the invariable copula nɩ links the two elements. If two noun 
phrases have the same referent, whether they are singular or plural, animate or 
inanimate, they are connected by nɩ 'COP'. For example: 
(8.69)a. lɩ-gʊgʊ́ nɩ lɩ-tɔńɩt́ɔ 
 5-reed COP 5-weed 
 'A reed is a weed.' 
b. ɓa-né-kókó nɩ ɓe-sú ɓoyó-dumó 
 2-na:1-instrument COP 2+9:9a-instrument 2+9.ASS-9.dance 
 'Nekokos are instruments to accompany a dance.' 
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c. mu-kó ka-tɩtɛ ́ nɩ titósú 
 1-woman GEN-1a.old person COP 1a.old person:1PL.POSS 
 'The wife of our grandfather is our grandmother.' 

In the case of negation, the third person singular negative form of -ik- 'be', kɛǵʊ, 
follows nɩ. 
 
The main clause preceding direct speech or an indirect order using a Subjunctive is 
usually non-verbal. These clauses are characterized by na 'with', which precedes 
the interlocutor and the complementizer ɓɛ ́(ɓɛ ́occurs at the end of the clause and 
is followed by a pause): 
(8.70) ɩyɩ ́ áka na ngámá ka-ɓo-nzikaɓʊ ́ ɓɛ:́  
 1.PRO only with 1a.chief GEN-2-man without mercy COMP 
 ngámá, na kápǎ  ku-kwá-kʊ 
 1a.chief 1SG:be 9b-want:FV 15-death-15 
 'He [said] to the chief of the robbers: "Chief, I am longing to die." ' 

(T2009.21) 
 
(8.71) Ká Ngasá áka na ɩyɩ ́ ɓɛ:́ wɩnd-á ká lɩ-kɔ ̌
 "Ka Ngasa" only with 1.PRO COMP 2SG:go-FV.IMP PREP 5-spring 
 'Ka Ngasa [said] to him: "Go to a spring." ' (T2006.1) 

 
(8.72) á kʊ́wǎ ndɩ lɩ-syɛ ́ lí-motí, síbǐ ɓá-dw-an-an-a 
 3SG:be thus P3 5-day 5.NUM-one 1a.tortoise 3PLP-offend-ASS-ASS-FV 
 na mbʊngʊ,́ ɩyɩ ́ áka na ɩyɩ ́ ɓɛ:́ 
 with 1a.elephant 1.PRO only with 1.PRO COMP 
 yɛ ̌ mbʊngʊ,́ wa-kem-in-o-ní ɔ-́gʊ ɓʊ-kɛɗ́ɛ ́
 excuse me! 1a.elephant 2SG-NEG:1SG.O-see-FV-NEGSUBJ INS-NEG 14-small 
 'One day, tortoise quarrelled with elephant, he [said] to him: Excuse me! 

Elephant, do not see me [as someone who is] small.' (T2007.14) 
 
In the examples above, áka does not indicate contrast (see 8.6.2 for contrast). In 
these constructions, it concerns the adverbial áka 'only', which optionally follows 
the speaker and can be left out, as in: 
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(8.73) sukopí no gbukó ɓɛ ́ ɩńd-ɩ ́ ká-kɩś-á bʊb̌ʊnzá 
 1a.leopard and 1a.rat COMP 3SG:go-FV.SUBJ 9b-search-FV 9.rotten 

mushroom 
 'Leopard [said] to rat that he should go to find rotten mushrooms.' 

(T2006.3) 
 
A non-verbal clause can be used in questions that ask for a description of 
something or a situation: 
(8.74) ɩ-kɩ ́ pɩýɛ ? 
 9a-what thus 
 'What thus [is]?', i.e. what happened? (T2006.1) 

 
(8.75) í-pígo yá-nyamá tínó sɛ ̌ mʊ ? 
 9a-species 9.ASS-1a.animal which thus 1.DEM.II 
 'What kind of animal [is] this?' (T2006.1) 

 
When a participant is introduced in a story, Liko has two common ways to present 
his or her name. The first one has a suppletive form of the verb 'to be', the word 
for 'name' and the complementizer ɓɛ:́ 
(8.76) mbɔḱʊ ǎ ndɩ líno ɓɛ ́ Ɓudumó 
 1a.adult 3SG:be P3 5:name COMP "Ɓudumo" 
 'The adult man was called Ɓudumo.' (T2007.6) 

 
A shorter way to introduce a participant is by putting ína ɓɛ ́'5.name COMP' 
preceding the proper name. In a context which is situated in the past, a Past time 
adverbial is added between ína and ɓɛ:́ ínǎ ndɩ ɓɛ ́'5.name P3 COMP': 
(8.77) ká mʊ-sɛngɩ ́ ka-Ɓavakwókwo, 
 PREP 3-village GEN-people of "Kwokwo" 
 ǎ ndɩ mʊ-lɩĺɩká ɓé-motí ínǎ  ndɩ ɓɛ ́ Kíbigʊ Kádɩgyǎ 
 3SG:be P3 1-trapper 1.NUM-one 5:name P3 COMP "Kibigʊ Kadɩgya" 
 'In the village of Bavakwokwo was a trapper called Kibigʊ Kadɩgya.' 

(T2006.1) 
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8.4 Relative clauses 
In this section, headed relative clauses are described first, followed by headless 
relative clauses. Headed relative clauses modify a noun, the nominal head. They 
regularly occur at the end of the noun phrase following other elements. Relative 
clauses are linked to the head noun by means of the copula and a demonstrative. 
The demonstrative agrees with the head noun (see 6.1.2). Arguments and adjuncts 
can be relativized, but relativization of adjuncts requires the presence of the trace 
particle minó. There is no relative marker in the verb morphology. 
 
a. Headed relative clauses - Arguments  
To start with, relativized subjects are presented. The connection between the 
nominal head and the relative clause consists of the copula and a type I 
demonstrative: 
(8.78)a. mʊ-sɩká nɩ-́nɔ ̌ ó-ɓín-ǎ ndɩ 
 1-girl COP-1.DEM.I 3SGP-dance-FV P3 
 'The girl who danced ...' 
b. mʊ-tʊ ́ wa-sɩ nɩ-́nɔ ̌ ãḿ-ɩn-ǎ ndɩ 
 1-man 1.ASS-all COP-1.DEM.I 3SGP:1.O-see-FV P3 
 'Every man who saw him ...' 

 
(8.79) nam-ín-ǐ ɓi mʊ-sɩká 
 1SG:1.O-see-FV.ANT P1 1-girl 
 nɩ-́nɔ ̌ a-sukús-íly-ǐ ɓi nɩńɛ ́ ɓo-tú 
 COP-1.DEM.I 3SG:1.O-wash-BEN-FV.ANT P1 1a.aunt 10-clothes 
 'I saw the girl who washed clothes for my aunt.' 

 
The combination of the copula and a demonstrative is also used as a demonstrative, 
without introducing a relative clause. The other interpretation of (8.78a) is 'That 
girl danced.' Similarly, when a type III demonstrative, indicating the exclusiveness 
of the referent, is followed by the copula and a type I demonstrative, both 
interpretations are possible: 
(8.80) mʊ-sɩká yǐ nɩ-́nɔ ̌ ó-ɓín-ǎ ndɩ 
 1-girl 1.DEM.III COP-1.DEM.I 3SGP-dance-FV P3 
 'That girl (exclusive) danced.' / 'That girl (exclusive) who danced ...' 
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Examples of relative clauses in which an object is relativized are given next. The 
following two simple clauses are used: 
(8.81)a. na-mwí nyamá 
 1SG:1.O-kill:FV.ANT 1a.animal 
 'I killed an animal.' 
b. a ká- ly-á nyamá 
 3SG:be 9b:1.O-eat-FV 1a.animal 
 'He is eating an animal.' 

 
(8.82)a. a ká- ly-á nyamá nɩ-́nɔ ̌ nã-mwí 
 3SG:be 9b:1.O-eat-FV 1a.animal COP-1.DEM.I 1SG:1.O-kill:FV.ANT 
 'He is eating the animal that I killed.' 
b. a ká- ly-á nyamá yǐ nɩ-́nɔ ̌ nã-mwí 
 3SG:be 9b:1.O- 

eat-FV 
1a.animal 1.DEM.III COP-1.DEM.I 1SG:1.O- 

kill:FV.ANT 
 'He is eating this animal (exclusive) which I killed.' 

Both in (a) and in (b), the only interpretation possible is the one with a relative 
clause.  
 
The following example shows that the demonstrative following the copula agrees 
with its antecedent (the demonstrative has class 5 concord):  
(8.83) ngámá and-ag-a-tʊ́ gɔnɩ ́ líɓó 
 1a.chief 3SG:look-PLUR-FV-INS also 5:water 
 nɩ-́lɔ ́ ɓa-tʊ́ kakɩ ́ ɓó-mw-óg-o 
 COP-5.DEM.I 2-man 3SG.POSS 3PL-drink-PLUR-FV 
 'A chief also keeps an eye on the water that his people drink.' (T2006.7) 

 
The demonstrative may be repeated to mark the end of the relative clause. For 
example: 
(8.84)a. a ká- ly-á nyamá nɩ-́nɔ ̌ nã-mwí nɔ ̌
 3SG:be 9b:1.O-eat-FV 1a.animal COP-1.DEM.I 1SG:1.O-kill: 

FV.ANT 
1.DEM.I 

 'He is eating the animal that I killed.' 
b. tɩtákɩ a ká-ɩn-á ma-lɩĺɩ ́  mi 
 1a:old person:her 3SG:be 9b-see-FV 6-food  6.DEM.III 
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 nɩ-́mɔ ́ mu-kó míkakɩ ́ ã-́ pá ndɩ mɔ 
 COP-6.DEM.I 1-woman 1:child:her 3SGP:1.O-give:FV P3 6.DEM.I 
 'Grandmother is seeing this food (exclusive) which the wife of her son 

gave her.' (T2007.5) 
 
Repeating the demonstrative is common in relative clauses, e.g.: 
(8.85) Súza a ká- ɩś-ɩĺy-á nɩńákɩ 
 "Súza" 3SG:be 9b:1.O-look for-BEN-FV 1a.aunt:3SG.POSS 
 nɩ-́nɔ ̌ wóko yí nɔ ̌ ndáɓʊ yá-gɔgɔ 
 COP-1.DEM.I 1a.widow 1.DEM.III 1.DEM.I 9.house 9.ASS-other 
 'Suza is looking for another house for her aunt, who is a widow.' 

 
Liko has three types of demonstratives, referential type I, proximal type II and a 
type III which indicates the exclusiveness of the referent (see 6.1.2). Relativized 
objects can use a type I demonstrative, or a type II demonstrative combined with 
the copula. The type II demonstrative must be repeated at the end of the relative 
clause.  
 
(8.86)a. a ká- ly-á nyamá nɩ-́mʊ(-ná) nã-mwí *(mʊ) 
 3SG:be 9b:1.O-eat-FV 1a.animal COP-1.DEM.II-CONN 1SG:1.O- 

kill:FV.ANT 
1.DEM.II 

 'He is eating this animal which I killed' 
b. a ká- ly-á nyamá yǐ nɩ-́mʊ(-ná) nã-mwí *(mʊ) 
 3SG:be 9b:1.O- 

eat-FV 
1a.animal 1.DEM.III COP-1.DEM.II-

CONN 
1SG:1.O- 
kill:FV.ANT 

1.DEM.II 

 'He is eating this animal (exclusive) which I killed.' 
The copula and the type II demonstrative are optionally followed by the connecting 
clitic -ná. 
 
A type II demonstrative cannot be used in a relative clause in which the subject is 
relativized. In (8.87b, c), an interpretation including a relative clause is 
unacceptable: 
(8.87)a. mʊ-sɩká mʊ ó-ɓín-ǎ ndɩ 
 1-girl 1.DEM.II 3SGP-dance-FV P3 
 'This girl danced.' 
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b. mʊ-sɩká nɩ-́mʊ(-ná) ó-ɓín-ǎ ndɩ 
 1-girl COP-1.DEM.II-CONN 3SGP-dance-FV P3 
 'This girl danced.' / *'The girl who danced ...' 
c. mʊ-sɩká yǐ nɩ-́mʊ(-ná) ó-ɓín-ǎ ndɩ 
 1-girl 1.DEM.III COP-1.DEM.II-CONN 3SGP-dance-FV P3 
 'This girl (exclusive) danced.' / *'This girl (exclusive) who danced ...' 

 
Relativization of objects is not restricted to objects with the semantic role of 
patient. Objects with beneficiary role can be relativized as well, as exemplified by 
the following examples, where a subject is relativized in (8.88a), an object with 
patient role in (8.88b) and an object with beneficiary role in (8.88c): 
(8.88)a. nam-ín-ǐ ɓi míkí mu-kó yi 
 1SG:1.O-see-FV.ANT P1 1a.child 1-woman 1.DEM.III 
 nɩ-́nɔ ̌ a-sukus-íly-ǐ ɓi nɩńɛ ́ ɓo-tú 
 COP-1.DEM.I 3SG:1.O-wash-BEN-FV.ANT P1 1a.aunt 2+9-clothes 
 'I saw the girl407 who washed clothes for my aunt.' 
b. no-ɗúkuf-óg-ǐ ɓi ɓo-tú 
 1SG-fold-PLUR-FV.ANT P1 2+9-clothes 
 nɩ-́ɓayɔ ́ míkí mu-kó yi a-sukus-íly-ǐ ɓi nɩńɛ ́
 COP-2+9.DEM.I 1a.child 1-woman 1.DEM.III 3SG:1.O-wash- 

BEN-FV.ANT 
P1 1a.aunt 

 'I folded the clothes that the girl washed for my aunt.' 
c. nam-ín-ǐ ɓi ɓa-nɩńɛ ́
 1SG:1.O-see-FV.ANT P1 2-aunt 
 nɩ-́ɓɔ ́ míkí mu-kó yi ʊ̌-sukus-íly-ǐ ɓi ɓo-tú 
 COP-2.DEM.I 1a.child 1-woman 1.DEM.III 3SG:2.O-wash- 

BEN-FV.ANT 
P1 2+9- 

clothes 
 'I saw the aunts for whom the girl washed clothes.' 

In (b), the second object is relativized. This example shows that relativization of 
second objects does not require the presence of minó preceding the first object, as 
is the case with adjuncts. 
 

                                                   
 
407 The type III demonstrative does not carry the sense of exclusiveness in the standard 
expression míkí mukó yi 'female child', i.e. a girl. 
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b. Headed relative clauses - Adjuncts 
Relative clauses in which adjuncts are relativized, obligatorily have a particle 
preceding the first object: minó, glossed as 'TRACE'.408 Adjuncts follow objects in 
the clause structure. minó is a trace particle which occurs between the verb and the 
first object if an adjunct is represented by a demonstrative in the initial position of 
a relative clause, or if an adjunct has been left-dislocated.409 
 
The relative clause in (8.90) is based on the following clause in which the object 
precedes the locative adjunct: 
(8.89) ɓʊ́-kɔg-ɔ ̌ ndɩ ɓo-míkí ɓú-dingǐ ká mu-gǐ 
 3PLP:2.O-cut:PLUR-FV P3 2-child 2.ADJ-big PREP 3-village 
 'They circumcised many children in the village.' 

 
Relativization of ká mugǐ yields the following structure: 
(8.90) mu-gi410 nɩ-́mɔ ́ ɓʊ́-kɔg-ɔ ̌ ndɩ minó ɓo-míkí ɓú-dingǐ 
 3-village COP-3.DEM.I 3PLP:2.O- 

cut:PLUR-FV 
P3 TRACE 2-child 2.ADJ-big 

 'The village where they circumcised many children ...' 
 
The trace particle minó is obligatory and precedes any object when an adjunct is 
relativized. Without minó (8.91a) or with minó in the canonical position of the 
adjunct (8.91b), the relative clause is ungrammatical. 
 
(8.91)a. *mu-gi  nɩ-́mɔ ́ ɓʊ́-kɔg-ɔ ̌ ndɩ ɓo-míkí ɓú-dingǐ 
 3-village COP-3.DEM.I 3PLP:2.O-cut:PLUR-FV P3 2-child 2.ADJ-big 
        

                                                   
 
408 The language has another word minó 'there', which occurs in adjunct position. 
409  A Bantu language for which a two-step procedure is proposed is Kinyarwanda. 
Kinyarwanda has two strategies of subjectivization: a) shifting the locative expression as a 
whole to subject position; b) a two-step process involving first objectivization, then 
subjectivization of the locative expression (the locative complement is cross-referenced by 
the locative clitic and moves to immediate postverbal position, thus preceding the original 
direct object) (Bearth 2003:137). 
410 The H tone of the LH contour on mugǐ merges with the following High. 
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b. *mu-gi  nɩ-́mɔ ́ ɓʊ́-kɔg-ɔ ̌ ndɩ ɓo-míkí ɓú-dingǐ minó 
 3-village COP-3.DEM.I 3PLP:2.O- 

cut:PLUR-FV 
P3 2-child 2.ADJ-big TRACE 

 Int. 'The village where they circumcised many children ...' 
 
In case there are two objects, minó precedes the first object: 
(8.92) nig-ǐ ɓi ká mu-gǐ  
 1SG-return-FV.ANT P1 PREP 3-village 
 nɩ-́mɔ ́ míkí a-sukus-íly-ǐ ɓi minó nɩńɛ ́ ɓo-tú 
 COP-6.DEM.I 1a.child 3SG:1.O-wash- 

BEN-FV.ANT 
P1 TRACE 1a.aunt 2+9-clothes 

 'I returned to the village where the child washed clothes for my aunt.' 
 
The presence of minó preceding the first object does not affect object agreement 
between the first object and the object prefix in the verb morphology. In (8.90), the 
first object is ɓo-míkí and the agreeing class 2 object prefix is ʊ-̌. Object agreement 
involves the first object, whether or not minó intervenes between the verb and the 
object. 
 
Agreement between the object prefix and the first object in cases in which minó 
intervenes is further exemplified by the next clause, where ɗɩnga 'period' is 
relativized:  
(8.93) ɗɩnga nɩ-́nɔ ̌ tʊ-ɓíky-i minó ɓa-mbánzʊ ́
 1a.period COP-1.DEM.I 1PL:2.O-say-FV.ANT TRACE 2-person 
 'The period in which we tell people [something] ...' (T2006.7) 

The class 2 object prefix ʊ-̌ agrees with ɓambánzʊ.́ 
 
It was illustrated above that relativized objects can have both a type I and a type II 
demonstrative in the initial position of the relative clause, whereas relativized 
subjects only have type I demonstratives. For adjuncts, a type II demonstrative 
following the copula and functioning as a relative pronoun is equally acceptable as 
a type I demonstrative, compare (8.90) and (8.94): 
(8.94) mu-gi  nɩ-́ma(-ná) ɓʊ́-kɔg-ɔ ̌ ndɩ minó ɓo-míkí ɓú-dingǐ 
 3-village COP-3.DEM.II-CONN 3PLP:2.O- 

cut:PLUR-FV 
P3 TRACE 2-child 2.ADJ-big 

 'This village where they circumcised many children ...' 
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Some additional examples are given of locative and temporal adjuncts. In all cases 
in which an adjunct is relativized, minó is obligatory.  
(8.95) ɓágǎ ndɩ na Ikóɓú ká ngʊ́pá 
 3PLP:go:FV P3 with "Ikoɓu" PREP 9.hill 
 nɩ-́yɔ ́ ɓʊ́-mwɔǵ-ɔ ̌ ndɩ minó ɓa-mbánzʊ ́
 COP-9.DEM.I 3PLP:2.O-kill:PLUR-FV P3 TRACE 2-person 
 'They went with Ikoɓu to the hill where they used to kill people.' 

(T2009.21) 
The antecedent of the relativized locative adjunct is ngʊṕá. 
 
(8.96) mbɩkɛ ́ yi nɩ-́yɔ ́ ɓó-kóng-og-o minó ndikó 
 9.pot 9.DEM.III COP-9.DEM.I 3PLP-roast-PLUR-FV TRACE 9.palm-nut pit 
 'That pot (exclusive) in which they roasted palm nuts ...' (T2006.6) 

The antecedent of the relativized locative adjunct is mbɩkɛ.́ 
 
(8.97) os-í ɓi gɩťa kakɩ ́ kó tíko 
 3SG:leave-FV.ANT P1 9.hoe 3SG.POSS PREP 9.field 
 nɩ-́yɔ ́ o-kún-ǐ ɓi minó ma-láki yɔ 
 COP-9.DEM.I 3SG-plant-FV.ANT P1 TRACE 6-bean 9.DEM.I 
 'He has left his hoe at the field where he planted beans.' 

The antecedent of the relativized locative adjunct is tíko. 
 
(8.98) ngbíngó yi nɩ-́nɔ ̌ wɩɩt́-a minó mʊ-lʊḱʊ́ mu-dingǐ 
 1a.time 1.DEM.III COP-1.DEM.I 2SG:change- 

FV 
TRACE 1-man 1.ADJ-big 

 'At the time when you become an adult ...' (T2006.8) 
The antecedent of the relativized temporal adjunct is ngbíngó. 
 
(8.99) mbɔḱʊ-mbɔḱʊ a-bum-í ɓi míkǎmɩ lɩ-syɛ ́ 
 1a.old man 3SG:1.O-hit-FV.ANT P1 1a.child:3SG.POSS 5-day 
 nɩ-́lɔ ́ o-ɗuk-ós-ǐ ɓi minó mbɩkɛ ́ lɔ ́
 COP-5.DEM.I 3SG-pour out-CAUS-FV.ANT P1 TRACE 9.clay pot 5.DEM.I 
 'The old man hit my child the day on which he (i.e. the child) 

knocked over a pot.' 
The antecedent of the relativized temporal adjunct is lɩsyɛ.́ 
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c. Headless relative clauses 
Headless relative constructions are attested with most noun classes. The antecedent 
of headless relative clauses is usually given by the context, but may be absent 
altogether. In the headless relative constructions found in my data, it is always an 
argument which is relativized. Examples of headless relative clauses are: 
(8.100)a. nɩ-́nɔ ̌ ǎ ndɩ mbɔḱʊ yí á-ɓɩḱy-a ɓɛ:́ 
 COP-1.DEM.I 3SG:be P3 1a.old man 1.DEM.III 3SGP-say-FV COMP 
 'The one who was this old man (exclusive) said: ...' (T2007.1) 
b. nɛĺʊngyá áka  ɓɛ:́ tɩnd-á-nɔ ásɩ ma-ɓɔḱʊ aká, 
 1a.chameleon only COMP 1PL:go-FV.IMP-SUPP only 6-hand CT 
 nɩ-́nɔ ̌ ík-o ma-ɓɔḱʊ ɓí-pí íba 
 COP-1.DEM.I 3SGP:sit-FV 6-hand MOD-black it means that 
 ɩyɩ ́ nɔ ̌ o-sumb-í 
 1.PRO 1.DEM.I 3SG-burn-FV.ANT 
 'Chameleon said: "We show JUST THE HANDS, the one who sat [with] 

black hands, he burned [in the context: down the field]." ' (T2009.15) 
 
(8.101) nɩ-́ɓɔ ́ ɓá na mu-kúmbogǐ ɓó-dog-o-kú-tǒ ndɩ gɔnɩ ́
 COP-2.DEM.I 3PL:be with 3-load 3PLP-come:PLUR- 

FV-DIR-INS 
P3 also 

 'The ones who had loads came too.' 
 
(8.102) nɩ-́lɔ ́ ná-gy-ǎ ndɩ lɔ,́ ǎ ndɩ lá-nyɛ ? 
 COP-5.DEM.I 1SGP-do-FV P3 5.DEM.I 3SG:be P3 5.ASS-bad 
 'The thing that I did, was bad?' (translated 2 Corinthians 11:7) 

 
(8.103) nɩ-́mɔ ́ á-ɓák-ǎ ndɩ ɓɩ-́gala-gala kyɛ ́ lɩ-tɔḿbʊ́ 
 COP-6.DEM.I 3SG/PLP-grow-FV P3 MOD-fast because 5-soil 
 Ø-kɛ-́gʊ̌ ndɩ lá-kpʊ wá 
 3SG-NEG:be:FV-NEG P3 5.ASS-big there 
 'The ones that grew fast because the soil there was not deep.' (translated 

Mark 4:5) 
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8.5 Interrogative sentences 
Interrogative sentences occur without and with a question word. All interrogative 
sentences are marked by raised pitch over the last one or two syllables of the 
utterance. 
 
Yes/no questions have the same structure as non-interrogative sentences: 
(8.104)a. wɩnd-a gɔnɩ ́ ká sɔḱɔ 
 2SG:go-FV also PREP 9.market 
 'You (sg) will also go to the market.' 
b. wɩnd-a gɔnɩ ́ ká sɔḱɔ ? 
 2SG:go-FV also PREP 9.market 
 'Will you (sg) also go to the market?  

In speaking, (b) is marked as an interrogative sentence by the rising pitch on the 
final vowel of the clause. 
 
The affirmative response given most often for (8.104b) is íyo 'yes'. The longer 
form would be íyo nɩndatʊ ́'yes, I will go'. If one will not go to the market, to say 
just kálɩ 'no' is regarded as being impolite. In that case, the usual respons is either 
kálɩ, nákɩńdɩgʊ 'no, I will not go' or simply nákɩńdɩgʊ 'I do not go'. 
 
In interrogative sentences, the Insistive enclitic -tɔ ́(see 7.7.4) is added to the 
inflected verb when the question refers to the near future, as in: 
(8.105) wɩnd-a-tʊ́ gɔnɩ ́ ká sɔḱɔ ? 
 2SG:go-FV-INS also PREP 9.market 
 'Will you (sg) also go to the market soon? 

 
Question words in content interrogative sentences are nouns or invariables. 
Interrogative sentences may contain a combination of a question word and another 
word to express a single question word meaning. 
 
a. Noun question words 
Two of the question words in interrogative sentences are nouns, wanɩ ́'1a.who', ɓa-
wanɩ ́'2-who' for animate referents, and ɩ-kɩ ́'9a-what', ɓɛ-kɩ ́'2+9:9a-what' for 
inanimate referents. 
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If the referent is the syntactic subject, the question word occurs left-dislocated at 
the beginning of the clause and is always followed by a demonstrative. In the 
following example, wanɩ ́refers to an animate referent:  
(8.106) wanɩ ́ nɔ ̌ á- ly-á ndɩ nyamá yi nɩ-́nɔ ̌? 
 1a.who 1.DEM.I 3SGP:1.O-eat-FVP P3 1a.animal 1.DEM.III COP-1.DEM.I 
 'Who ate this animal (exclusive)?' 

 
ɩ-kɩ ́'9a-what' is used as question word for inanimate referents. If the referent is the 
subject, ɩ-kɩ ́occurs left-dislocated at the beginning of the clause and is always 
followed by a demonstrative:  
(8.107)a. ɩ-kɩ ́ yɔ ́ a yó- pólǐ kʊǵbɛ ? 
 9a-what 9.DEM.I 3SG:be light (weight) very 
 'What is very easy?' (Translated Matt. 9:5) 
b. a-bǎɓʊ kãḿ-ɩn-a ɓyɩ áka ã́ m-úus-o 
 1b-father:3PL.POSS 9b:1.O-see-FV far only 3SGP:1.O-ask-FV 
 ɓɛ:́ míkǎmɩ, ɩ-kɩ ́ yɔ ́ u-gy-í ? 
 COMP 1a.child:1SG.POSS 9a-what 9.DEM.I 3SG:2SG.O-do-FV.ANT 
 'Their father saw him still far away, he asked him: "My child, what 

happened to you?" ' (T2009.14) 
 
Liko has two ways to question an object: either a question word occurs preverbally 
and is followed by a type I demonstrative, or a question word occurs in situ and is 
not followed by a type I demonstrative. Generally in interrogative sentences, the 
question word for an object occurs preverbally as in (8.108-8.111a). 
 
(8.108)a. wanɩ ́ nɔ4̌11 ɩ-nvá a-kuk-í ? 
 1a.who 1.DEM.I 1c-dog 3SG-bite-FV.ANT 
b. ɩ-nvá a-kuk-í wanɩ ́? 
 1c-dog 3SG-bite-FV.ANT 1a.who 
a. and b.: 'Whom did the dog bite?' 

According to my Liko consultants, (a) and (b) have the same meaning.412 
                                                   
 
411 nɩńɔ,̌ the combination of the copula and the type I demonstrative concord of class 1, 
which may function as a relative pronoun, is not acceptable: *wanɩ ́nɩńɔ ̌ɩnvá akukí  ? 
412 If it is true that the meaning is the same, there may be a difference in the use of these 
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(8.109)a. wanɩ ́ nɔ ̌ a-bǎkɩ Gbutu ã-kum-í 
 1a.who 1.DEM.I 1b-father:3SG.POSS "Gbutu" 3SG:1.O-throw a spell-FV.ANT 
 'Whom did his father Gbutu bewitch?' 

*'Who bewitched his father Gbutu?'  
b. wa ká- búk-y-óg-ó wanɩ ́
 2SG:be 9b:1.O-resound-APPL-PLUR-FV 1a.who 
 'Whom are you responding to?' (T2008.10) 

 
(8.110)a. ɩ-kɩ ́ yɔ ́ má Fína a ká-amb-á ? 
 9a-what 9.DEM.I 1a.mother "Fina" 3SG:be 9b-cook-FV 
b. má Fína a ká-amb-á ɩ-kɩ ́? 
 1a.mother "Fina" 3SG:be 9b-cook-FV 9a-what 
a. and b.: 'What is Mother Fina cooking?' 

 
(8.111)a. ɩ-kɩ ́ yɔ ́ ɓo-míkí ɓá ká-kɩś-á ? 
 9a-what 9.DEM.I 2-child 3PL:be 9b-look for-FV 
b. ɓo-míkí ɓá ká-kɩś-á ɩ-kɩ ́? 
 2-child 3PL:be 9b-look for-FV 9a-what 
a. and b.: 'What are the children looking for?' 

 
The question words wanɩ ́'1a.who' and ɩ-kɩ ́'9a.what' in (8.108-8.111a) precede any 
expressed subject. The subject is realized in the canonical subject position. The 
subject prefix of the verb agrees with the subject. The subject can never occur in a 
postverbal position. In (8.108-8.111b), the question word is realized in situ and not 
marked for focus. 
 
When the question word is dislocated, the type I demonstrative is obligatory, 
whereas the demonstrative must be absent when the question word occurs in situ. 
Compare the sentences in (8.110) with those in (8.112): 
(8.112)a. *ɩ-kɩ ́ má Fína a ká-amb-á ? 
 9a-what 1a.mother "Fina" 3SG:be 9b-cook-FV 
b. *má Fína a ká-amb-á ɩ-kɩ ́ yɔ ́? 
 1a.mother "Fina" 3SG:be 9b-cook-FV 9a-what 9.DEM.I 

                                                                                                                        
 
clauses, but that has not yet been found.  



Chapter 8 
 
436 

Other examples of wanɩ ́'1a.who' and ɩ-kɩ ́'9a-what' referring to objects include: 
(8.113) wanɩ ́ nɔ ̌ nzʊḱa ɩnd-ɩ kã-́my-ǒ 
 1a.who 1.DEM.I 1a.snake 3SG:go-FV.SUBJ 9b:1.O:swallow-FV 
 kú-silí wa-mʊ-ngbɔngbɔ ́ kʊ ́? 
 17-under part 17.ASS-3-banana tree trunk there 
 'A snake would go to swallow who there under the banana trunk?' 

(T2009.20)  
 
(8.114) si-ɓutǔ á-ɓuɓ-is-o sɩ-sǎ ɓí-tú, ɩyɩ ́ áka 
 sɩ:1-tilapia 3SGP-become white-CAUS-FV  sɩ:1-fish MOD-bright 1.PRO only 
 na ɩyɩ ́ ɓɛ:́ wo-póli ábɛ ̌ ɩ-wayá, 
 with 1.PRO COMP 1.ass-light (weight) like 9a-dried banana leaf 
 wa ká-ɓúk-y-óg-ó wanɩ ́? 
 2SG:be 9b-resound-APPL-PLUR-FV 1a.who 
 'Tilapia offended Sɩsa, he said to him: "Someone light like a dried 

banana leaf, to whom are you talking?" (T2008.10) 
 
(8.115) wa ká-pa ɓɛ ́ nʊ-́gy-ɩly-ɩ ́ ɩ-kɩ ́? 
 2SG-be 9b-want:FV COMP 1SG.2SFO-do-BEN-FV.SUBJ 9a-what 
 'What do you want that I do for you?' 

 
(8.116) o-vi-kú ɩ-kɩ ́ ká Ɓafwaɓaka? 
 3SG-take:FV.ANT-DIR 9a-what PREP Ɓafwaɓaka 
 'What did he take (there) in Ɓafwaɓaka?' 

 
b. Invariable question words 
The invariable question words ɓʊńɩ ́'how', kɛḱɩ 'why', lɩkɩ ́'how' and yánɩ 'where' 
occur at the end of the interrogative sentence. 
 
The invariable question words cannot be left-dislocated. In the following clause, 
the question word for a locative adjunct, yánɩ 'where', cannot occur clause-initially: 
(8.117)a. o-bǐs-i i-zingi-só sá- ɓʊǵʊ yánɩ ? 
 3SG-put-FV.ANT 19-bunch-19 19.ASS-9.plantain where 
 'Where did he put the bunch of plantains?' 
b. *yánɩ (nɔ/̌yɔ) o-bǐs-i i-zingi-só sá- ɓʊǵʊ 
 where 1/9.DEM.I 3SG-put-FV.ANT 19-bunch-19 19.ASS-9.plantain 
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Examples of the invariable question words are presented below. 
 
ɓʊńɩ ́'how' and lɩkɩ ́'how' are both used frequently and in the same contexts, e.g.: 
(8.118)a. lɩ-kpʊmʊ́ká lɩ-ná a pɩýɛ ɓʊ́nɩ ́? 
 5-thing 5.DEM.II-CONN 3SG:be thus how 
 'How did this happen?' (T2006.3) 
b. ɓá- ʊ́n-ag-a pɩýɛ séléngúndé lɩkɩ?́ 
 3PL:1.O-plant-PLUR-FV thus 9.peanut how 
 'How does one plant peanuts?' 

 
ɓʊńɩ ́'how' is also used in the sense of 'what' in relation to an action, e.g.: 
(8.119) nɩ-̌gy-a kʊẃa ɩmɩ ɓʊ́nɩ ́? 
 1SG:REFL-do-FV thus 1SG.PRO how 
 'What shall I do?' (T2009.21) 

 
An example of kɛḱɩ 'why' is: 
(8.120) wá-ky-á mbɛýɩ ̌ ndɩ kɛḱɩ ká-bis-ó mu-túgbǒ 
 2SGP-refuse-FVP first P3 why 9b-put-FV 1-strong man 
 ká-ɓʊ́nd-ág-á ndáɓʊ ? 
 9b-wait-PLUR-FV 9.house 
 'Why did you at first refuse to put a strong man to watch over the 

house?' 
 
More common ways to express 'why' are combinations with a question word, kó 
bulyó ɩ-kɩ ́'PREP 9.reason 9a-what' in (8.136) and (8.137), and kyɛ ́ɓʊńɩ ́'why how' 
in (8.141). 
 
Liko has two ways to question an adjunct, with the question word yánɩ 'where' or 
with a prepositional phrase containing the question word tínó 'which' (see below). 
When an adjunct is questioned with yánɩ 'where', the question word has to occur in 
situ as shown in (8.117).  
 
Other examples of yánɩ 'where' are: 
(8.121)a. ndáɓʊ kakʊ́ a yánɩ ? 
 9.house 2SG.POSS 3SG:be where 
 'Where is your house?' 
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b. má ká-ɩnd-á na Ikóɓú yánɩ ? 
 2PL:be 9b-go-FV with "Ikoɓu" where 
 'Where are you (pl) going with Ikoɓu?' 

 
(8.122) ta-luw-okú mukáti413 yánɩ ? 
 1PL-buy-FV-DIR 1a.bread where 
 'Where will we buy bread?' 

 
(8.123) wa ká-pa ɓɛ ́ tɩńd-ɩ ́ ká-ʊmbámb-ɩĺy-á 
 2SG:be 9b-want:FV COMP 1PL:go-FV.SUBJ 9b-2SG.O:cook-BEN-FV 
 ma-lɩĺɩ ́ má-pasɩḱa yánɩ ? 
 6-food 6.ASS-1a.Passover where 
 'Where do you want that we go to cook the Passover meal?' (translated 

Mark 14:12) 
 
yánɩ questions a prepositional phrase and it occurs with intransitive verbs like -ɩnd- 
'go', as in: 
(8.124) mu-kó kǎmɩ ind-í yánɩ ? 
 1-woman 1SG.POSS 3SG:go-FV.ANT where 
 'Where did my wife go?' 

 
c. Questioning a noun  
Invariable question word tínó 'which' always follows the noun it refers to, e.g. míkí 
tínó 'which child'. A prepositional phrase with a question word, tínó 'which' (or ɩ-kɩ ́
'9a-what'), either remains in situ or is left-dislocated to a position preceding the 
subject of the clause. At the end of the dislocated noun phrase a type I 
demonstrative is required.  
 
(8.125) ta-syɛ ́ kʊẃa ká  mu-gi tínó 
 1PL-pass-FV thus PREP 3-village which 
 kyɛ ́ tǔp-i-ní  na lɩ-gʊndʊ́ ? 
 because 1PL:rest-FV.ANT-PFV with 5-journey 

                                                   
 
413 From Congo Swahili mkate, regularly pronounced as mukate in Congo. 
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 'In which village will we sleep, because we have become tired of the 
journey.' (T2009.17)  

 
(8.126)a. ta-ly-a ma-lɩĺɩ ́ ká ndáɓʊ tínó ? 
 1PL-eat-FV 6-food PREP 9.house which 
b. ndáɓʊ tínó yɔ ́ ta-ly-a minó ma-lɩĺɩ ́? 
 9.house which 9.DEM.I 1PL-eat-FV TRACE 6-food 
a. and b.: 'In which house will we eat the meal?' 

In the case of dislocation, as in (b), the preposition is no longer expressed. 
 
Left-dislocation of an adjunct in (8.126b) and (8.127) requires the presence of the 
trace particle minó, whereas left-dislocation of an object in (8.128) does not. 
 
(8.127) lɩ-kpʊmʊ́ká lá-pʊp̌ʊ tínó lɔ ́ má minó 
 5-thing 5.ASS-strong which 5.DEM.I 3PL:be TRACE 
 ká-ɩ-̌nzɩnzɩny-á 
 9b-REFL-talk scandal-FV 
 'Which hard issues are you talking scandal about among yourselves?' 

 
(8.128) míkí tínó nɔ ̌ a-bǎkɩ Ø-kã-́yoyis-og-ɩ-gʊ ? 
 1a.child which 1.DEM.I 1b-father: 

3SG.POSS 
3SG-NEG:1.O-admonish-PLUR-FV-NEG 

 'Which child a father will not correct?' (translated Hebrews 12:7) 
 
The trace particle minó is also obligatorily present in relative clauses in which the 
demonstrative, functioning as a relative pronoun, refers to an adjunct, see 8.4. 
Another example is the following interrogative sentence, in which the prepositional 
phrase kó pǐsi tínó, PREP 9.path which, 'by which path' ('how') is left-dislocated: 
 
(8.129) pǐsi tínó yɔ ́ má-kwanan-a minó ká-nyɩk-á yǐgyogyísó ? 
 9.path which 9.DEM.I 2PL-should-FV TRACE 9b-avoid-FV 9a:sorrow 
 'How (by which path) should you (pl) avoid suffering?' (translated 

Matthew 23:33) 
The trace particle minó precedes the infinitival complement of the verb of 
obligation -kwanan- 'should'. 
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For temporal adjuncts, Liko uses the phrase ngbíngó tínó, 1a.time which, 'at which 
time, when'. It occurs in situ as in (8.130a) and dislocated as in (8.130b): 
(8.130)a. mbɔḱʊ-mbɔḱʊ nɩ-́nɔ ̌ a-bum-í ɓi 
 1a.old man COP-1.DEM.I 3SG:1.O-hit-FV.ANT P1 
 míkǎmɩ ngbíngó tínó ? 
 1a.child:3SG.POSS 1a.time which 
b. ngbíngó tínó nɔ ̌ mbɔḱʊ-mbɔḱʊ nɩ-́nɔ ̌
 1a.time which 1.DEM.I 1a.old man COP-1.DEM.I 
 a-bum-í ɓi minó míkǎmɩ 
 3SG:1.O-hit-FV.ANT P1 TRACE 1a.child:3SG.POSS 
a. and b.: 'When did that old man hit my child?' 

 
When a prepositional phrase with tínó is left-dislocated, the subject remains in its 
canonical position, as in (8.130b), which is comparable to the constructions in 
which a noun phrase functioning as syntactic object is left-dislocated, as in (8.128). 
 
When the question word tínó 'which' follows ngbíngó, 1a.time, moment, the 
combination expresses 'when'. With ɗɩnga, 1a.period, moment, it means 'at what 
time'. For example: 
(8.131)a. tɩtákʊ ig-o-kú ngbíngó tínó ? 
 1a.grandparent:2SG.POSS 3SG:return-FV-DIR 1a.time which 
 'When will you father-in-law return?' 
b. ngbíngó tínó nɔ ̌ ind-í minó ? 
 1a.time which 1.DEM.I 3SG:go-FV.ANT TRACE 
 'When did he go?' 

 
(8.132)a. ɗɩnga tínó mʊ ? 
 1a.period which 1.DEM.II 
 'What is the time?' 
b. ɓíg-o-kú kʊẃa ɗɩnga tínó ? 
 3PL:return-FV-DIR thus 1a.period which 
 'When (at what time) will they return?' 

 
d. Combinations involving question words 
ɩ-kɩ ́'9a-what' occurs in combination with several adverbials to express various 
question-word meanings. The cases below list the combinations present in my data. 
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An example of ɩkɩ ́kʊẃa 'what (reason)'414 is: 
(8.133) yɛ ̌ mu-kó míkǎmɩ, ɩ-kɩ ́ kʊẃa 
 excuse me! 1-woman 1a.child:1SG.POSS 9a-what thus 
 we-pí ɩmɩ ma-lɩĺɩ ́ ma-kɛɗ́ɛ ́ ɓɛńɛ ? 
 2SG:1SG.O-give:FV.ANT 1SG.PRO 6-food 6.ASS.small like this 
 'Excuse me! My daughter-in-law, why did you give me such a small 

portion?' (T2007.5) 
 
An example of ɩkɩ ́pɩýɛ 'what (result) ' is: 
(8.134) ɩ-kɩ ́ pɩýɛ ? lɩ-bʊmá, ɓʊ-tɔtɔ ́ ɓí-kyekyékyě 
 9a-what thus 5-drunkenness 14-laughter MOD-burst of laughter 
 'What happened? Drunkeness, bursts of laughter.' (T2006.1) 

 
Example of ɩkɩ ́sɛ pɩýɛ / ɩkɩ ́sɛ mbɛýɩ 'what (specific)' are: 
(8.135)a. ɩ-kɩ ́ sɛ pɩýɛ yɔ ɛ-́ɓɔ ̌ ndɩ ? 
 9a-what thus thus 9.DEM.I 3SGP:1SG.O-deceive:FV P3 
 'What duped me?' (T2009.27) 
b. ɩ-kɩ ́ sɛ mbɛýɩ yɔ wǒ ɓi ká-kɩś-á ká kʊǵba ? 
 9a-what thus first 9.DEM.I 2SG:be P1 9b-look 

for-FV 
PREP 1a.game bag 

 'What were you looking for in your game bag?' 
 
When asking for a reason, the prepositional phrase kó bulyó ɩkɩ,́ PREP 9.reason  
9a-what, 'why' can be used, e.g.: 
(8.136)a. wo-ɗok-í ká i-gumí-so kó bulyó ɩ-kɩ ́? 
 2SG-climb-FV.ANT PREP 19-root, stump-19 PREP 9.reason 9a-what 
 'Why did you climb in that trunk?' 
b. kó bulyó ɩ-kɩ ́ yɔ ́ má minó ká-gy-ǎ 
 PREP 9.reason 9a-what 9.DEM.I 2PL:be TRACE 9b-do-FV 
 li-gubó nɩ-́lɔ ́? 
 5-work COP-5.DEM.I 
 'Why are you doing this work?' 

                                                   
 
414 The rough specifications in brackets are based on the material available and discussion 
with the Liko consultants I worked with. 
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(8.137)a. o-ɓúsól-ǐ ɓi gbɔnɩ ́ kakɩ ́ kó bulyó ɩ-kɩ ́? 
 3SG-forget-FV.ANT P1 9.axe 3SG.POSS PREP 9.reason 9a-what 
b. kó bulyó ɩ-kɩ ́ yɔ ̌ o-ɓúsól-ǐ ɓi minó gbɔnɩ ́ kakɩ ́? 
 PREP 9.reason 9a-what 9.DEM.I 3SG-forget- 

FV.ANT 
P1 TRACE 9.axe 3SG.POSS 

a. and b.: 'Why did he forget his axe?' 
 
Apart from being used as question word, ɩ-kɩ ́'9a-what' is used with mbɛýɩ 'first' to 
summarize a situation as in (8.138), it is used with sɛ kʊẃa to introduce a 
conclusion as in (8.139), or it is used for something insignificant or disliked 
(8.140): 
(8.138) wa-kam-ɩń-á ndɩ Ikóɓú íba kyɛ ́
 2SG:COND:1.O-see-FV P3 "Ikoɓu" it means that because 
 wam-ín-i-ní gɔnɩ ́ Zangɩýá. 
 2SG:1.O-see-FV.ANT.PFV also "Zangɩya" 
 ɩ-kɩ ́ mbɛýɩ yɔ ́ yá-nza ɓɛýɔ ́! 
 9a-what first 9.DEM.I 9.ASS-good like that 
 'If you saw Ikoɓu, then you had also seen Zangɩya. What was it good at 

first!' (T2009.21) 
 
(8.139) ɩ-kɩ ́ sɛ kʊẃa, mbʊnyá mamá á-pʊng-ǎ ndɩ ká-ɩ-̌gam-á 
 9a-

what 
thus thus 1a.husband 1a.mother 3SGP-start-FV P3 9b-REFL-cry-

FV 
 'What do we see? "His lordship" started to complain.' (T2009.37) 

 
(8.140) mu-gwí ɩ-kɩ ́ yá-gbalɩ yɔ ɓɩ-́kwɩ ̌
 1.O-hold-FV.IMP 9a-what 9.ASS-disorderly 9.DEM.I MOD-hold securely 
 'Hold something disorderly securely!', i.e. Arrest that idiot!' (T2007.3) 

 
ɓʊńɩ ́is used in combination with kyɛ ́'because', kyɛ ́ɓʊńɩ,́ to express 'why': 
(8.141)a. wá-ky-á mbɛýɩ ̌ ndɩ ká-bis-ó mu-túgbǒ 
 2SGP-refuse-FVP first P3 9b-put-FV 1-strong man 
 ká-ɓʊ́nd-ág-á ndáɓʊ kyɛ ́ ɓʊ́nɩ ́? 
 9b-wait-PLUR-FV 9.house because how 
 'Why did you at first refuse to put a strong man to guard the house?' 
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b. na ká-ʊ-ɓɩḱy-á kyɛ ́ ɓʊ́nɩ ́? 
 1SG:be 9b-2SG.O-say-FV because how 
 'Why do I tell you?' (T2006.8) 

 
e. General interrogatives 
In general interrogatives, where the answer comprises the predicate, the question 
word ɩ-kɩ ́'9a-what' is left-dislocated and followed by a type I demonstrative. The 
answer to general interrogatives has the canonical word order and no additional 
marking. The answers are given in (8.142b) and (8.143b). 
(8.142)a. ɩ-kɩ ́ yɔ ́ má ká-gyǎ yɔ ́? 
 9a-what 9.DEM.I 2PL:be 9b-do-FV 9.DEM.I 
 'What are you (pl) doing?' 
b. ta ká-lɩḱ-ág-á ma-ɓɔḿbʊ 
 1PL:be 9b-trap-PLUR-FV 6-trap 
 'We are setting traps.' 

 
(8.143)a. ɩ-kɩ ́ yɔ ́ u-gy-í ɓo-míkí ? 
 9a-what 9.DEM.I 3SG:2.O-do-FV.ANT 2-child 
 'What happened to the children?' / *'What did the children do?' 
b. ɓo-míkí ɓí-mwís-ís-á ndɩ 
 2-child 3PLP:REFL-kill:CAUS-CAUS-FVP P3 
 'The children were killed.', literally, 'they caused themselves to be 

killed' (see 8.2.6). 
The noun phrase following the verb in (a) is the object, as is evident from the class 
2 object prefix in the verb form. 

8.6 Information structure 
Liko has several ways, both syntactic and morphological, to formally code 
different aspects of information within a sentence. New information and contrastive 
information are presented in 8.6.1 and 8.6.2. Constructions in which constituents 
are left-dislocated or in which they precede the clause in an external topic positon 
will be described with their discourse function. The function of left-dislocation in 
texts is predominantly textual cohesion, in particular to (re)activate a participant, 
see 8.6.3. The other use of left-dislocation is in interrogative sentences, see 8.5, 
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and in answer to questioned subjects, see 8.6.1. Arguments and adjuncts can be 
expressed as external topics, left-adjoined to the clause, see 8.6.4. 
 
To illustrate how the language codes new information, contrast, participant 
activation, and external topics, the text Ikoɓu (T2009.21) is presented with brief 
comments on information structure, see Appendix 1, 1.5.1. 
 
The action expressed by a verb can be emphasized by the Insistive enclitic. For a 
description of this enclitic, -tɔ,́ I refer the reader to 3.2.4.2 and 7.7.4. Subjects and 
objects can be emphasized by a substitutive, see 6.1.1. 

8.6.1 New information 
This section demonstrates that new information given in answer to interrogative 
sentences is not coded in Liko. Questioned elements are not marked as focus. I will 
first look at objects, then at adjuncts and finally at subjects. Examples of general 
interrogatives and answers are given above, see (8.142) and (8.143) in 8.5.  
 
According to the literature (Lambrecht 1994, Foley 2007), less predictable or 
disputed elements of the sentence tend to be marked as 'focus'. Bearth (2003:130) 
and others state that a suitable environment in which the expression of 'focus' may 
be tested are content or wh-questions. Completive focus (also called assertive 
focus, e.g. Watters 2003:252) usually involves answers to content questions. 
Relevant question words in the language are: wanɩ ́'1a.who' / ɓa-wanɩ ́'2-who' for 
animates, ɩ-kɩ ́'9a-what' / ɓɛ-kɩ ́'2+9:9a-what' for inanimates, yanɩ ́'where' for 
locations and tínó 'which' for phrases with a head noun. 
 
a. Objects 
The interrogative sentences (8.108a), (8.110a) and (8.111a) are repeated here: 
(8.144) wanɩ ́ nɔ ̌ ɩ-nvá a-kuk-í ? 
 1a.who 1.DEM.I 1c-dog 3SG-bite-FV.ANT 
 'Whom did the dog bite?' 

 
(8.145) ɩ-kɩ ́ yɔ ́ má Fína a ká-amb-á ? 
 9a-what 9.DEM.I 1a.mother "Fina" 3SG:be 9b-cook-FV 
 'What is Mother Fina cooking?' 
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(8.146) ɩ-kɩ ́ yɔ ́ ɓo-míkí ɓá ká-kɩś-á ? 
 9a-what 9.DEM.I 2-child 3PL:be 9b-look for-FV 
 'What are the children looking for?' 

 
The preferred answers to the above questions have the new information either in 
the post-verbal position as in (8.147a-8.149a), or as a non-verbal single-phrase 
clause as in (8.147b-8.149b): 
(8.147)a. a-kuk-í ɓi mikǎmɩ 
 3SG:1.O-bite-FV.ANT P1 1a.child:1SG.POSS 
 'He bit my child.' 
b. mikǎmɩ 
 1a.child:1SG.POSS 
 'My child' 

 
(8.148)a. a ká-amb-á mo-tumbǔwa 
 3SG:be 9b-cook-FV 6-pastry ball 
 'She is frying pastry balls.' 
b. mo-tumbǔwa 
 6-pastry ball 
 'Pastry balls' 

 
(8.149)a. ɓá ká-kɩś-á lɩ-yɩǩɔ kakɩ ́
 3PL:be 9b-look for-FV 5-amulet415 3SG.POSS 
 'They are looking for her amulet.' 
b. lɩ-yɩǩɔ kakɩ ́
 5-amulet 3SG.POSS 
 'Her amulet' 

 
Left-dislocating an object in a clause which answers a questioned object is 
possible, but according to my Liko consultants less acceptable: 
(8.150) ??mo-tumbǔwa mɔ má Fína a ká-amb-á 
 6-pastry ball 6.DEM.I 1a.mother "Fina" 3SG:be 9b-cook-FV 
 'Mother Fina is frying pastry balls.' 

                                                   
 
415 Or beads and bones used for personal adornment. 
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(8.151) ??lɩ-yɩǩɔ kakɩ ́ lɔ ́ ɓá ká-kɩś-á 
 5-amulet 3SG.POSS 5.DEM.I 3PL:be 9b-look for-FV 
 'They are looking for her amulet' 

 
If there is a need to express that Mother Fina is frying pastry balls and not 
something else, the contrast particle áka is used, e.g.: 
(8.152) a ká-amb-á mo-tumbǔwa aká416 
 3SG:be 9b-cook-FV 6-pastry ball CT 
 'She is frying PASTRY BALLS.' 

 
It is interesting that, in case of ambiguity, only the interpretation according to the 
canonical SVO word order is allowed. To illustrate this, I start with interrogative 
sentences questioning an object with the role of a beneficiary. They have the same 
word-order options as when the object of the basic verb is questioned: 
(8.153)a. wanɩ ́ nɔ ̌ Súza a kã-́ ɩś-ɩĺy-á lɩ-yɩǩɔ ? 
 1a.who 1.DEM.I "Suza" 3SG:be 9b:1.O-look for-BEN-FV 5-amulet 
b. Súza a ká- ɩś-ɩĺy-á wanɩ ́ lɩ-yɩǩɔ ? 
 "Suza" 3SG:be 9b:1.O-look for-BEN-FV 1a.who 5-amulet 
a. and b.: 'For whom is Suza looking for an amulet?' 

 
The correct answer to both these questions is (8.154a) below. (8.154b) is not 
acceptable as a correct answer to either of the above questions, because the 
interpretation that the aunt is the beneficiary is ruled out: 
(8.154)a. a ká- ɩś-ɩĺy-á nɩńákɩ 
 3SG:be 9b:1.O-look for-BEN-FV 1a.aunt:3SG.POSS 
 'She is searching [it] for her aunt.' 
b. nɩńákɩ nɔ ̌ a kã-́ ɩś-ɩĺy-á 
 1a.aunt:3SG.POSS 1.DEM.I 3SG:be 9b:1.O-look for-BEN-FV 
 *'She is searching [it] for her aunt.' 

 

                                                   
 
416 The surface tones on the contrast particle depend on the preceding tone: áka if the 
preceding tone is High and aká if the preceding tone is Low. 
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The new information is the identification of the beneficiary. Yet as an answer to 
the question in (8.153), nɩńákɩ can only occur in situ as in (8.154a). If it is 
dislocated and it occurs preverbally as in (8.154b), the aunt cannot be interpreted 
as the beneficiary. Sentence (8.154b) is correct under the interpretation that the 
aunt is the subject of the clause; in that case the meaning is: 'Her aunt (mentioned 
earlier417) is searching for someone.'. 
 
b. Adjuncts 
In responses to interrogative sentences with yánɩ 'where', locative adjuncts that 
provide the new information have to occur postverbally without any additional 
marking. The answer to (8.117) 'Where did he put the bunch of plantains?' is: 
(8.155)a. o-bǐs-i ká gbɔǧbɔ 
 3SG-put-FV.ANT PREP 1a.drying shed 
 'He put [it] in the drying shed.' 
b. *ká gbɔǧbɔ nɔ ̌ o-bǐs-i 
 PREP 1a.drying shed 1.DEM.I 3SG-put-FV.ANT 
c. *gbɔǧbɔ nɔ ̌ o-bǐs-i 
 1a.drying shed 1.DEM.I 3SG-put-FV.ANT 

(b) and (c) are not acceptable, neither with nor without the general preposition. 
 
The answer to question words in prepositional phrases, as (8.126) 'In which house 
will we eat the meal?', occurs postverbally and follows any objects:: 
(8.156) ta-ly-a ma-lɩĺɩ ́ ká ndáɓʊ kǎmɩ 
 1PL-eat-FV 6-food PREP 9.house 1SG.POSS 
 'We will eat the meal in my house.' 

 
In responses to questions with ngbíngó tínó, as (8.130) 'When did that old man hit 
my child?', temporal adjuncts that yield the new information only occur 
postverbally following any objects: 
(8.157)a. ã-bum-í ɓi na ɓʊ-gɔgɔ ̌
 3SG:1.O-hit-FV.ANT P1 with 14-sunset 
 'He hit him in the evening.' 

                                                   
 
417 See the activation of a participant in 8.6.3. 
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b. *na ɓʊ-gɔgɔ ̌ ɓɔ ́ ã-bum-í ɓi 
 with 14-sunset 14.DEM.I 3SG:1.O-hit-FV.ANT P1 
c. *ɓʊ-gɔgɔ ̌ ɓɔ ́ ã-bum-í ɓi 
 14-sunset 14.DEM.I 3SG:1.O-hit-FV.ANT P1 

 
In responses to questions with kó bulyó ɩkɩ,́ as (8.137) 'Why did he forget his axe?', 
the subordinate clause giving the new information follows the object: 
(8.158) o-ɓúsól-ǐ ɓi gbɔnɩ ́ kakɩ ́ kyɛ ́ mbwáyɩ ǒ ɓi ká-lʊ́k-á 

 3SG-forget- 
FV.ANT 

P1 9.axe 3SG.POSS because 9.rain 3SG: 
be 

P1 9b-rain-FV 

 'He forgot his axe because it rained.' 
 
In sum, Liko does not have a special position in the clause to mark new 
information where objects or adjuncts are concerned. Objects and adjuncts remain 
in situ. Objects and adjuncts providing new information do not receive specific 
'focus' marking. In interrogative sentences, the questioned element remains in situ 
or is left-dislocated to a position in the clause which precedes the subject. Only 
yánɩ 'where' cannot be left-dislocated. There is a striking similarity between left-
dislocation and relative clauses in that the trace particle minó is required when 
adjuncts are involved in a postverbal position following tense/aspect enclitics and 
preceding any object. In both relativization and left-dislocation, a type I 
demonstrative is involved. 
 
c. Subjects 
Subjects are typically the 'topic' of a clause, not the element which provides new 
information. Subjects that give new information in response to questions are left-
dislocated and are followed by a type I demonstrative in elicitation.418 Question 
words referring to a subject are always left-dislocated. In the questions and the 

                                                   
 
418 The context of elicitation is a factor. In the natural as well as translated texts in my data, 
the subject in an answer to a questioned subject is not left-dislocated.  
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answers in (8.159) and (8.160), the type I demonstrative is class 1 concord nɔ.̌419 In 
(8.159a) and in (8.160a), the type I demonstrative nɔ ̌is obligatory. 
 
(8.159)a. wanɩ ́ nɔ ̌ a ká-wonís-íl-ó na lɩ-syɛ ́ nɩ-́lɩ ? 
 1a.who 1.DEM.I 3SG:be 9b-show:CAUS- 

RES-FV 
with 5-day COP-5.dem.II 

 'Who is teaching today?' 
b. mu-wonisilí wa-mbɩya nɔ ̌ a ké-wonís-íl-ó 
 1-teacher 1.ASS-new 1.DEM.I 3SG:be 9b:1SG.O-show:CAUS- 

RES-FV 
 'The new teacher is teaching me.' 

 
(8.160)a. wanɩ ́ nɔ ̌ a-kuk-í mikǎmɩ ? 
 1a.who 1.DEM.I 3SG:1.O-bite-FV.ANT 1a.child:1SG.POSS 
 'Who bit my child?' / *'Whom did my child bite?' 
b. ɩ-nvá nɔ ̌ a-kuk-í ɓi mikǎmɩ 
 1c-dog 1.DEM.I 3SG:1.O-bite-FV.ANT P1 1a.child:1SG.POSS 
 'The dog bit my child.' 

The only possible interpretation of mikǎmɩ in (8.160) is that of patient. The subject 
cannot occur in a post-verbal position.  
 
Coding of new information in Liko can be summarized as follows: 

(8.161) Requested information New information 
 in situ left-dislocated in situ left-dislocated 
object yes yes yes no/??420 
adjunct (yánɩ) yes no yes no 
adjunct (other) yes yes with TRACE yes no 
subject no yes no yes 

                                                   
 
419 Augustin (2010) has analysed nɔ (no tone marking) as the focus particle. However, nɔ ̌is 
a type I demonstrative which agrees with its head noun. Left-dislocation is not only used in 
questions and in answering a questioned subject, but primarily in creating textual cohesion 
by activation of the (major) participant. The contrast particle in Liko is áka, see 8.6.2. 
420 In elicitation, left-dislocation is possible for objects with the role of patient, but it is less 
acceptable. 
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8.6.2 Contrast 
Liko has a particle, áka, which marks disputed elements in the sentence. It 
functions to indicate contrast, i.e. information that is contrary to other information 
in the text or to the presuppositions of the interlocutor. The scope of the elements 
in contrast is limited to the phrase preceding áka. The contrastive particle occurs 
with arguments and adjuncts. The phrase with contrastive focus remains in its 
canonical position. Tone on the contrast particle surfaces as H.L when following a 
H tone and it surfaces as L.H when following a L tone.421 In the examples, the 
phrase in contrast is marked with underlining. In the free translation, the contrasted 
element is marked with capitals (in the case of the first person singular pronoun 
"contrasted" is added in brackets). 
 
a. Objects 
Examples of contrasted objects are: 
(8.162) Má Fína a ká-gab-á mo-tumbǔwa aká 
 1a.mother "Fina" 3SG:be 9b-sell-FV 6-pastry ball CT 
 ká sɔḱɔ 
 PREP 1a.market 
 'Mother Fina is selling PASTRY BALLS at the market.' 

'Pastry balls' contrast with another product mentioned before. In the other examples 
below, the phrase ending with áka contrasts with presupposed or known 
information. 
 
(8.163) Ikóɓú a-mwí ɓi nzʊḱa aká, 
 "Ikoɓu" 3SG:1.O-kill:FV.ANT P1 1a.snake CT 
 nɩ-́nɔ ̌ ã-gbit-í ɓi nɔ,̌ na mʊ-pánga 
 COP-1.DEM.I 3SG:1.O-fell-FV.ANT P1 1.DEM.I with 3-machete 
 'Ikoɓu killed THE SNAKE, which bit him, with a machete.' 

 

                                                   
 
421 I assume that H.L is the underlying tone pattern. In (rapid) speech, the vowel preceding 
áka is subject to V1-elision or desyllabification, see 3.3.1 and 3.3.5. If the tone on the 
preceding vowel is H, the two H tones simply merge. If the tone on the preceding vowel is 
L, the resulting LH.L sequence surfaces as a sequence of Low and High. 
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(8.164) Súza a ká-kɩś-á lɩ-yɩǩɔ aká kátʊḱyá422 
 "Suza" 3SG:be 9b-look for-FV 5-amulet CT since 
 na ɓʊ-sɔɓ́ɩ 
 with 14-sunrise 
 'Suza has been looking for the AMULET since sunrise.' 

 
(8.165)a. Nangáa a ká- ɩś-ɩĺy-á nɩńákɩ aká ndáɓʊ yá-gɔgɔ 
 "Nangaa" 3SG: 

be 
9b:1.O-look for- 
BEN-FV 

1a.aunt: 
3SG.POSS 

CT 9.house 9.ASS.other 

 'Nangaa is looking for another house for HIS AUNT.' 
b. Nangáa a ká-kɩś-á ndáɓʊ yá-gɔgɔ aká 
 "Nangaa" 3SG:be 9b-look for-FV 9.house 9.ASS.other CT 
 kó bulyó ka-nɩńákɩ 
 PREP 9.reason GEN-1a.aunt:3SG.POSS 
 'Nangaa is looking for ANOTHER HOUSE for his aunt.' 

 
(8.166) ngámá á- ɓɩḱy-ǎ ndɩ Ábaláma ɓɛ:́ 
 1a.chief 3SGP:1.O-say-FV P3 "Abalama" COMP 
 i-pó-kú ɩmɩ ɓa-mbánzʊ ́ áka, 
 1SG.O-give:FV.IMP-DIR 1SG.PRO 2-person CT 
 wá-va ɩwɛ lɩ-ngámá 
 2SG-take:FV.INST 2SG.PRO 5-things of value 
 'The king said to Abraham: "Give me THE PEOPLE, you 

(emphasized) take the valuable things." ' (translated Genesis 14:21) 
 
In the next example of an object followed by áka, the number of sons is contrasted. 
The other wife of the speaker gave him many sons, whereas with Rachel, he had 
only two: 
(8.167) babǎ á-tɩ-́ɓɩḱy-á ndɩ ɓɛ:́ míb-ag-a-tʊ́ ɓɛ ́
 1a.father 3SGP-1PL.O-say-FVP P3 COMP 2PL:know-PLUR-FV-INS COMP 
 mu-kó kǎmɩ ɓɛýɔ ́ ka-Lakéli ɛ-́ ɓʊḱʊt-ɩly-ǎ 
 1-woman 1SG.POSS like that GEN-"Lakeli" 3SGP:1SG.O-give birth-BEN-FV 

                                                   
 
422 The structure of this word is ká-tʊḱ-y-á '9b-leave-APPL-FV'.  
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 ndɩ ɓo-míkí ɓa-lʊ́kʊ́ ɓi ɓá-ɓǎ áka 
 P3 2-child 2-man 2.dem.III 2.NUM-two CT 
 'Father said to us: "You know that my wife called Rachel gave me 

TWO SONS." ' (translated Genesis 44:27) 
 
b. Adjuncts 
Cases, in which locative, temporal and instrumental or manner adjuncts occur 
followed by áka, are given next. The phrase preceding áka contrasts with other 
information. The input for the first example is the statement that someone put the 
harvest in his house. This is denied and the correct location is contrasted: 
(8.168) o-bǐs-i lɩ-nyɔnyɔ ́ ká gbɔǧbɔ aká 
 3SG-put-FV.ANT 5-peanut harvest PREP 1a.drying shed CT 
 'He put the peanut harvest IN THE DRYING SHED.' 

 
The contrast particle áka marks contrast and it does not allow changes in word 
order. An adjunct followed by the contrast particle cannot precede the first object: 
(8.169) *o-bǐs-i ká gbɔǧbɔ aká lɩ-nyɔnyɔ ́
 3SG-put-FV.ANT PREP 1a.drying shed CT 5-peanut harvest 

 
The phrase ká gbɔǧbɔ is not a locative complement, because the locative phrase can 
be left out:  
(8.170) lɩ-syɛ ́ lá-gɔgɔ, nɩýɔ ́ ɩ-nvá ó-bis-ó ɓu-yí, 
 5-day 5.ASS-other when 1c-dog 3SGP-put-FVP 14.money 
 ɩg-á kʊ ́ kakɩ ́
 3SG:return-FVP there 3SG.POSS 
 'The next day, when dog put the money, he returned home.' (T2007.15) 

 
Other examples of locative adjuncts with contrast are: 
(8.171) ɓa-swá ɓámály-ɩ ́ kó tíko kakʊ́ áka, ʊkán-á-tʊ 
 2-Pygmy 3PL:end up at- 

FV.SUBJ 
PREP 9.field 2SG.POSS CT hear-FV.IMP-INS 

 'That the Pygmy end up AT YOUR FIELD, understand that well.' 
 
(8.172) tó-lípy-og-o kʊ́wǎ ndɩ iɓúsú kó pǐsi aká 
 1PLP-last-PLUR-FV thus P3 1PL.PRO PREP 9.road CT 
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 'We (emphasized) stayed ON THE ROAD.' (instead of going to 
school) (T2009.25) 
 

Temporal adjuncts with the contrast particle:  
(8.173) ã-bum-í ɓi na ɓʊ-gɔgɔ ̌ áka 
 3SG:1.O-hit-FV.ANT P1 with 14-sunset CT 
 'He hit him IN THE EVENING.' 

 
(8.174) ma-lɩĺɩ ́ nɩ-́mɔ ́ ɓá-tɩḿb-amb-ɩly-ǎ423 ndɩ, tá kʊ́wǎ ndɩ 
 6-food COP-6.DEM.I 3PLP-1PL.O-cook-BEN-FV P3 1PL:be thus P3 
 ká-ly-á na lɩ-gʊndʊ́ áka  
 9b-eat-FV with 5-JOURNEY CT 
 'The food that they cooked for us, we were eating it DURING THE 

JOURNEY.' (T2009.23) 
 
Examples of instrumental or manner adjuncts with the contrast particle are:  
(8.175) Ikóɓú a-mwí ɓi nzʊḱa na lɩ-kʊ ̌ áka 
 "Ikoɓu" 3SG:1.O-kill:FV.ANT P1 1a.snake with 5-stick CT 
 'Ikoɓu killed a snake WITH A STICK.' 

 
(8.176) á-syɛ ́ ndɩ na nzǎ áka 
 3SGP-pass:FV P3 with  9.hunger CT 
 'He passed [the day] HUNGRY.' (T2009.32) 

 
After someone has burned his arm while cooking: 
(8.177) nɩýɔ ́ mʊzʊzʊlá é-beɗul-o ɓɛýɔ,́ 
 when 9.awful pain 3SGP:1SG.O-surpass-FV like that 
 nzǎ é- sy-ó lɩńgʊnʊ́ áka 
 9.hunger 3SGP:1SG.O-finish-FVP 5.truth CT 
 'When the awful pain became too much for me, feeling hungry finished 

REALLY.' (T2009.3) 
 
                                                   
 
423 The basic verb is -amb- 'cook'. I assume that in this case, epenthetic /mb/ occurs 
preceding the vowel-initial verb, instead of /m/. See 7.5.1. 
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c. Subjects 
Subjects cannot be directly followed by the contrast particle áka. If a subject is 
contrasted, áka follows a postverbal substitutive with the same referent as the 
subject (ɩɓʊ ́in the first example below, ɩmɩ in the second) in a construction with 
copula nɩ: 
(8.178) kú-mbúso yí, ɓa-má mákɩ ɓó-do-kú ndɩ nɩ 
 17-back 17.DEM.I 2-brother:3SG.POSS 3PLP-come:FV-DIR P3 COP 
 ɩɓʊ́ áka kã-́ tákány-á 
 2.PRO CT 9b:1.O-find-FV 
 'Later, HIS BROTHERS came to find him.' (translated Genesis 50:18) 

 
(8.179) ná-kaly-ag-ǎ ndɩ nɩ ɩmɩ aká nɩ-́lɔ ́ lá-sɩ 
 1SGP-pay-PLUR-FV P3 COP 1SG.PRO CT COP-5.DEM.I 5.ASS-all 
 'I (contrasted) paid all those [things].' (translated Genesis 31:39) 

 
For the combination of subjects and postverbal substitutives, see 7.4 and 6.1.1. 
 
The contrast particle áka occurs frequently with one of the following adverbials, ásɩ 
'only' in affirmative and gʊtʊǵʊ 'even' in negative clauses. ásɩ nearly always occurs 
in combination with áka. These adverbials reinforce the contrasted element, 
positively in the case of ási, i.e. giving interpretations like 'always', 'completely', 
'just', etc., and negatively in the case of gʊtʊǵʊ, i.e. yielding the meaning 'not any'. 
The adverbials ásɩ and gʊtʊǵʊ mark the beginning of the domain of contrast, áka 
the end.  
 
Examples of ásɩ and áka are: 
(8.180) kánɩ ́ gbukó a kʊẃa ásɩ ká mʊ-gamʊ́ áka 
 when 1a.rat 3SG:be thus only PREP 3-crying CT 
 'While Rat was CRYING ALL THE TIME.' (T2006.3) 

 
(8.181) nzʊýɩ yá-sɩ á-va kʊẃa ásɩ sʊ yó- múkí áka 
 9.body 9.ASS-all 3SGP-take:FV thus only 9.smell 9.ASS-6:smoke CT 
 'The whole body took on JUST THE SMELL OF SMOKE.' (T2006.5) 
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(8.182) na ásɩ ká lɩ-lɛɓʊ́ áka 
 1SG:be only PREP 5-mourning CT 
 'I am ALWAYS IN MOURNING.' (translated Genesis 37:35) 

 
(8.183) mʊ-lʊḱʊ́ na mu-kákɩ ɓǎ ndɩ ɩɓʊ́ ɓá-sɩ 
 1-man with 1-woman:3SG.POSS 3PL:be P3 2.PRO 2.ASS-all 
 ɓá-ɓǎ ásɩ ndúmbú áka 
 2.NUM-two only 9.nudity CT 
 'Man and his wife they were both COMPLETELY NAKED.' 

(translated Genesis 2:25) 
 
(8.184) mbɩya wánʊ, tá-kɛ-́gʊ ɓatǎ no lúkí 
 new here 1PL-NEG:be:FV-NEG again with 5:object 
 lá-gɔgɔ nɩ-́lɔ ́ ta-kwanan-a ká-ʊ-pá 
 5.ASS-other COP-5.DEM.I 1PL-should-FV 9b-2SG.O-give:FV 
 Ø-kík-i ásɩ nzʊýɩ kusú áka na ma-tɔḿbʊ ́ kusú 
 3SG-COND:be- 

FV.NEG 
only 9.body 1PL.POSS CT with 6-land 1PL.POSS 

 'Now, we have not again anything else which we should give to you if it 
is not JUST OUR BODY and our fields.' (translated Genesis 48:18) 

 
Examples of gʊtʊǵʊ and áka are: 
(8.185) ɓa-nyamá ɓá-sɩ mánzála-mánzála, Ø-ká-gwǐ-gʊ 
 2-animal 2.ASS-all in disorder 3SGP-NEG:1.O-hold:FVP-NEG 
 gʊtʊǵʊ ɓé-motí áka 
 even 1.NUM-one CT 
 'All animals [fled] in disorder, he did not CATCH ANYONE.' (T2006.3) 

 
(8.186) ɓá-kɩngɩl-a gɔnɩ ́ ká-lɩḱ-ág-á ma-ɓɔḿbʊ, ɓá-kɔ mʊ-palʊ́ 
 3PLP-try-FV also 9b-trap-PLUR-FV 6-trap 3PLP-cut:FV 3-barrier424 
 nɩ-́ma-ná má-ndǎ, gʊtʊǵʊ mbɛýɩ kó-ɓók-ís-ó áka 
 COP-3.DEM.II-CONN 3.ASS-long even first 9b-grow-CAUS-FV CT 
  

                                                   
 
424 A barrier in the forest with passage ways where traps are installed. 
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 'They also tried to set traps, they cut the long barrier, NOTHING WAS 
SUCCESSFUL.'425 (T2009.21) 

 
(8.187) mʊ-mbánzʊ́ gʊtʊǵʊ ɓé-motí áka Ø-ká-kwanan-ɩ-gʊ 
 1-person even 1.NUM-one CT 3SG-NEG-should-FV.NEG-NEG 
 ndɛḱɛ ́ ká-ʊ-táng-á 
 F3 9b-2.O-count-FV 
 'NOT ANY person will be able to count them.' (translated Genesis 13:16) 

 
(8.188) ná-ká-vɩ-gʊ lúkí kakʊ́ gʊtʊǵʊ lí-motí áka 
 1SG-NEG-take:FV.NEG-NEG 5:object 2SG.POSS even 5.NUM-one CT 
 'I am not taking your object, NOT ANY ONE.' (translated Genesis 14:23) 

8.6.3 Left-dislocation for participant activation 
The main function of left-dislocation is to ensure textual cohesion by activation of 
the (major) participant.426 When a participant becomes the topic of conversation or 
of a text after some digression, he is re-introduced by left-dislocation and a type I 
demonstrative.427 Left-dislocation does not imply emphasis or contrastive focus on 
the dislocated element. 
 
Pronouns typically do not provide new information. In Liko, pronouns are used to 
emphasize a known subject or object. When a pronoun refers to an antecedent 
earlier in the text, it may be left-dislocated. In the following two examples, a 
pronoun which is syntactically an object is left-dislocated and followed by a type I 
demonstrative. 
 
 
                                                   
 
425 Literally, 'not first caused to grow'. 
426 A large number of examples comes from the translated text of Genesis. This is done 
because it contains several longer stories in which the Liko translators have put an effort in 
making it clear to potential hearers who or what is the topic of a sentence. These stories 
contain a lot of material that can be used to study information structure. 
427 Nicolle (2014:132) reports this use of referential and distal demonstratives, i.e. to activate 
a participant, for several Tanzanian languages. 
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(8.189) ɩyɩ ́ nɔ ̌ ɓa-mbánzʊ ́ ɓãḿ-ʊkan-ag-a ndɛḱɛ 
 1.PRO 1.DEM.I 2-person 3PL:1.O-hear-PLUR-FV F3 
 'People will listen to him.' (translated Genesis 49:10) 

The antecedent, the 'owner', is presented in the previous sentence in the text. 
 
(8.190) ɩyɩ ́ nɔ ̌ Sála ʊ-ɓʊ́kʊt-ɩly-a ɓánʊ ká 
 1.PRO 1.DEM.I "Sala" 3SG:2SG.O-give birth-BEN-FV F2 PREP 
 syǎ ngá-sʊ sá-gɔgɔ 
 7:year, dry season-7 7.ASS-other 
 'Sarah will give birth to him next year.' (translated Genesis 17:21) 

In the context of the above example, a promised child, Isaac, has been introduced 
in chapter 17, verse 19. The intermediate passage talks about another son. In the 
sentence preceding the above one, Isaac is the topic again. In (8.190), ɩyɩ ́'he' is the 
topic and syǎ ngásʊ ságɔgɔ 'next year' the new information. Left-dislocation of the 
pronoun does not add emphasis. 
 
Examples of a dislocated pronoun which functions as a subject: 
(8.191)a. ɩyɩ ́ nɔ ̌ o-ɓúng-ús-i-ní mʊ-pánga 
 1.PRO 1.DEM.I 3SG-lose-CAUS-FV.ANT-PFV 3-machete 
 'He had lost the machete.' 
b. kyɛ ́ ɩyɩ ́ nɔ ̌ á-gbusy-óg-í ɓi Sɩsa 
 so that 1.PRO 1.DEM.I 3SG:1.O-curse-PLUR-FV.SUBJ P1 "Sisa" 
 '... so that he would curse Sisa.' (T2008.10) 

 
In the next example, the story introduces the children of Noah and expands on one 
of them. When the narrator returns to the three children, he uses a left-dislocated 
pronoun:  
(8.192) ɩɓʊ́ ɓá-sáá ɓɔ ́ ɓǎ ndɩ ɓo-míka-Nʊá 
 2.PRO 2.NUM-three 2.DEM.I 3PL:be P3 2-child:GEN-"Nʊa" 
 'The three were children of Noah.' (translated Genesis 9:19) 

 
In a story in Genesis, a servant responds to a request and asks for further 
information in (8.193a). After the instructions (several sentences), the servant, by 
means of a formal gesture, pledges that he will carry out the instructions (8.193b). 
The servant is re-introduced by left-dislocation. 
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(8.193)a. mʊ-gy-a-li-gubó ã-́sikis-y-o ɓɛ:́ 
 1-do-FV-5-work 3SGP:1.O-return-APPL-FV COMP 
 'The servant answered:' (translated Genesis 24:5) 
       
b. mʊ-gy-a-li-gubó nɔ ̌ ó-bis-á ndɩ kʊ-ɓɔ́ kʊ́-kɔ kú-silí 
 1-do-FV-5-work 1.DEM.I 3SGP-put-FVP P3 15-hand-15 17-under part 
 wa-sɩ-bɛ-̌sʊ ka-mómbukwána dǎkɩ428 
 17.ASS-7-thigh-7 GEN-1a.owner 1a.s.o. of same age:3SG.POSS 
 'The servant put [his] hand under the thigh of his master.' (translated 

Genesis 24:9) 
 
One of the Liko stories, Mbwoko, see 1.1.3 in Appendix 1, tells that a demon had a 
beautiful daughter. He demanded that a would-be husband would be able to endure 
hunger and abstain from food. So when a man came to the village to ask to marry 
the girl, he was put in a house and forbidden to eat. But in the house, the demon 
had put ripe sweet bananas. The first young man who came could not stand the 
fragrance of the bananas and ate some. When in (8.194a), the demon discovered 
that the first candidate had eaten the sweet bananas in the house, he called the men 
of the village. They killed the young man and cooked his meat. When the father of 
the girl, the demon, is mentioned again in (8.194b), the phrase is left-dislocated 
and followed by a type I demonstrative: 
(8.194)a. nɩýɔ ́ abǎkɩ mu-kó á-ndʊ́ng-á 
 when 1a.father:3SG.POSS 1-woman 3SGP-discover-FV 
 'When the father of the woman discovered [it].' (T2006.2) 
b. abǎkɩ mʊ-sɩká nɔ ̌ á-va ma-lɩĺɩ ́ mɔ ́
 1a.father:3SG.POSS 1-girl 1.DEM.I 3SGP-take:FV 6-food 6.DEM.I 
 'The father of the girl took this food.' (T2006.2) 

 
In the following example, the men are re-introduced after they had been mentioned 
for the last time in verse 9: 
(8.195) kú-mbúso yí, ɓa-lʊḱʊ́ ɓɔ ́ ɓã-́ tʊ́k-y-ɩly-ǎ ndɩ lɩ-gʊndʊ́ 
 17-back 17.DEM.III 2-man 2.DEM.I 3PLP:1.O-leave- 

APPL-BEN-FV 
P3 5-journey 

                                                   
 
428 mombukwana dǎkɩ is an expression meaning 'his master'.  
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 'After that, the men left him [to go on] a journey.' (translated Genesis 
18:16) 

 
In the text preceding the next example, a pregnant woman received a message that 
she would give birth to twins. At the time of the delivery, it appeared that:  
(8.196) ɓo-ɓígi ɓɔ ́ ɓǎ ndɩ kʊ-́sɔ ̌ wa-mʊ̌ma kakɩ ́
 2-twins 2.DEM.I 3PL:be P3 17-inside 17.ASS-3.belly 3SG.POSS 
 'Twins were in her womb.' (translated Genesis 25:24) 

 
Proper names can be left-dislocated to refer to characters mentioned before in the 
text. In a story in Genesis, a man called Jacob gets the news that his son Joseph is 
still alive. Jacob exclaims: 
(8.197) mikǎmɩ Yɛzɛf́ʊ a ɓata ká ɔɓɩĺɩ ́ áka ! 
 1a.child:1SG.POSS "Yɛzɛf́ʊ" 3SG:be again PREP 1a.life, world CT 
 na ká-ag-ǎ kãḿ-ɩn-a kámbwa ɓɛ ́ nó-kw-í 
 1SG:be 9b-leave-FV 9b:1.O-see-FV 17:front COMP 1SG-die-FV.SUBJ 
 'My child Joseph is still ALIVE! I am leaving to see him before (that) I 

die.' (translated Genesis 45:28) 
 
Later in the text, Jacob is told: 
(8.198) Yɛzɛf́ʊ nɔ ̌ u-tíky-o ndɛḱɛ míso 
 "Yɛzɛf́ʊ" 1.DEM.I 3SG:2SG.O-close-FV F3 6:eye 
 'Joseph will close your eyes.' (translated Genesis 46:4) 

 
Left-dislocation involves a position in the clause which precedes the subject 
position and follows a conjunction. In the example below, the conjunction kyɛ ́
precedes the left-dislocated element: 
(8.199) míkí nɩ a-kɔńgɔ,́ kyɛ ́ a-kɔńgɔ ́ nɔ ̌
 1a.child COP 1b-banana shoot because 1b-banana shoot 1.DEM.I 
 a-tɩ-́pag-a má-ɓʊǵʊ kú-mbúso 
 3SG-1PL.O-give:PLUR-FV 6-banana 17-back 
 'A child is a banana shoot, because this banana shoot will give us 

bananas later.' (T2006.7) 
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8.6.4 External topicalization 
External topics are not preposed constituents of the clause, but are external to it, 
adjoined to the clause as a whole (Foley 2007:416).429 In Liko, external topics 
occur to the left of the clause. Adjuncts as external topics are common, they are 
mostly locative and temporal phrases, but also instrumental, manner and other 
phrases. Objects as external topics are rare and subjects are absent. An external 
topic does not occur in subject position, as can be seen in the examples below, 
where a full subject NP is present between the external topic and the verb. External 
topics are usually separated from the following clause by means of a short pause. 
 
I will first present a case in which an object argument occurs as external topic. In 
the texts from which the example below is taken, the animals were introduced as 
participants in the opening clause of the text: Leopard is the chief of the animals. 
In the following sentences, the story tells that Leopard appointed Rat to watch over 
his field. ɓa-nyamá ɓá-gɔgɔ 'the other animals' are presupposed and they are the 
topic of the clause. The new information is that they were angry: 
(8.200) ɓa-nyamá ɓá-gɔgɔ, ma-mbɛngɩ ́ ʊ-́tʊ́l-ǎ ndɩ 
 2-animal 2.ASS-other 6-heart 3SG/PLP:2.O-hurt-FV P3 
 'the other animals, hearts hurt them', i.e. they were angry (T2006.3) 

 
The above sentence is also grammatical if the external topic is left out, mambɛngɩ ́
ʊt́ʊĺǎ ndɩ. The object is marked in the verb form with the class 2 object prefix ʊ-̌. 
  
If a clause is preceded by an external topic, it is nearly always a locative or a 
temporal phrase. Examples of a locative phrase as external topic are: 
(8.201) kó pǐsi, Zangɩýá ʊ́-ɓɩmy-a ɓo-nzikaɓʊ́ 
 PREP 9.path "Zangɩya" 3SGP:2.O-spy on-FV 2-man without mercy 
 'On the road, Zangɩya watched the robbers.'430 (T2009.21 - adapted) 

 

                                                   
 
429 Examples which Foley gives for adjuncts as external topics include: In Sydney there is 
always a lot to do, In the morning I finished the article (his (132a, b), Egbert, I couldn't find 
(132d) and Soukous, it's the greatest African twentieth-century gift to civilization (132g). 
430 The robbers are on the road. 
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(8.202) kʊ-́gʊ̌ wo-ɓukú, ta-pʊng-ag-a kó-bis-ó pangǎ-tʊ 
 17-top 17.ASS-8:burning 

piece of wood 
1PL-start-PLUR-FV 9b-put-FV 13.hide of  

palm nut-13 
 'Over the fire, we start by putting the palm-nut fibres at all sides.' 

(T2006.5) 
 
(8.203) kʊ ́ kʊ-́syákʊ, Makánzyálá o-gbit-í ɓu-síyo na gbɔnɩ ́ kakɩ ́
 there 17-side 

across a river 
"Makanzyala" 3SG:fell- 

FV.ANT 
14-tree with 9.axe 3SG.POSS 

 'There across the river, Makanzyala felled a "ɓusiyo" tree with his axe.' 
 
(8.204) kʊńʊ kú431 kusú ká Gbaɩgbaɩ, ta-pʊng-ag-a 
 here there 1PL.POSS PREP "Gbaigbai" 1PL-start-PLUR-FV 
 ká-mʊmʊ́l-á ngbɔngbɔ ́
 9b-collect-FV 9.banana trunk 
 'Here where we live in Gbaigbai, we start by collecting banana tree 

trunks' (T2006.5) 
 
Examples of temporal phrases as external topic are: 
(8.205) na ɓʊ-sɔɓ́ɩ, a-lʊ́kʊ́ ɩḿ-ʊḱan-a nzǎ 
 with 14-sunrise 1b-man 3SGP:REFL-feel-FV 9.hunger 
 'At sunrise, the man was hungry.' (T2006.2) 

 
(8.206) kú-mbúso wa-ma-syɛ,́ lʊ́nga ú-sil-y-ǎ ndɩ  
 17-back 17.ASS-6-day 5:war 3SGP:2.O-arrive-APPL-FV P3 
 'Some time later, the war affected them.' (T2009.21) 

 
(8.207) na ɓʊ-gɔgɔ ̌ ɓi nɩ-́ɓɔ,́ Ɓókótógi ámb-á ndɩ 
 with 14-sunset 14.DEM.III COP-14.DEM.I "Ɓokotogi" 3SGP:cook-FVP P3 
 ma-lɩĺɩ ́ ká ma-fíka 
 6-food PREP 6-kitchen 
 'That evening, Ɓokotogi prepared food in the kitchen.' 

                                                   
 
431 The vowel of kʊ ́ is changed into /u/ due to assimilation to the following [+ATR] 
possessive pronoun kusú. 
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Examples of other adjuncts as external topic: 
(8.208) na gbɔnɩ ́ kakɩ ́ yá-mbɩya, Makánzyálá o-gbit-í ɓu-síyo 
 with 9.axe 3SG.POSS 9.ASS-new "Makanzyala" 3SG:fell-FV.ANT 14-tree 
 kʊ-́syákʊ 
 17-side across a river 
 'With his new axe, Makanzyala felled a "ɓusiyo" tree across the river.' 

 
(8.209) ká yigǒkú kakʊ́, wa-kíkwe-ní-to kú-mbúso 
 PREP 9a:return 2SG.POSS 2SG-NEG:look:FV- NEGSUBJ-INS 17-back 
 'When you return, do not look back' (T2006.1) 

 
External topics may be followed by the contrast particle áka: 
(8.210) kó ngbíngó ɓé-motí áka, 
 PREP 1a.time 1.NUM-one CT 
 ɩ-ngbɔĺɔ ́ á-pʊng-a kó-mw-óg-ó líɓó 
 9a-dugout 3SGP-start-FV 9b-drink-PLUR-FV 5:water 
 'SUDDENLY, the dugout started to make water.' 

 
(8.211) kó ngbíngó yi nɩ-́nɔ ̌ gɔnɩ ́ áka nɔ,̌ 
 PREP 1a.time 1.DEM.III COP-1.DEM.I also CT 1.DEM.I 
 mu-kákɩ ʊ́-ɓʊ́kʊt-a ɓo-ɓígi 
 1-woman:3SG.POSS 3SGP:2.O-give birth-FV 2-twins 
 'AT THAT TIME, his wife gave birth to twins.' (T2007.9) 

 
(8.212) ká pǎ yi nɩ-́yɔ ́ áka yɔ,́ 
 PREP 9.place 9.DEM.III COP-9.DEM.I CT 9.DEM.I 
 Ábaláma á-bib-is-ǎ ndɩ Kúnzi 
 "Abalama" 3SGP-praise-CAUS-FV P3 1a.God 
 'AT THAT PLACE, Abraham praised God.' (translated Genesis 13:4) 

When the external topic contains a type I demonstrative, a repeated demonstrative 
follows the contrast particle at the end of the external topic. 

8.7 Comparison 
In order to compare one item with another, different constructions are used 
depending on whether the comparison expresses a similarity or a dissimilarity. 
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When a characteristic that both items share is referred to, an inflected form of a 
verb is followed -not necessarily directly- by preposition ábɛ ̌'like', as in: 
(8.213) míkí mu-kó yǐ a ábɛ432 sɩɓ́á 
 1a.child 1-woman 1.DEM.III 3SG:be like 9.ivory 
 'A girl is like ivory.' (T2006.9) 

The point of comparison here is that both a girl and a piece of ivory are highly 
valuable. 
 
In the next examples, someone is being hit with sticks until he dies, like people hit 
a snake when it is seen in a village: 
(8.214) ɓã-́bʊm-ǎ ndɩ na ɓɛ-ngbɩńgɩĺɩ ́ ábɛ nzʊḱa ɓã-́mwɔ ́
 3PLP:1.O-hit-FV P3 with 2+9:9a-stick like 1a.snake 3PLP:1.O-kill:FV 
 'They hit him with sticks like a snake, they killed him.' (T2009.21) 

 
When dissimilarity with respect to the point of comparison is expressed, the most 
common strategy is to use the Infinitive form of the verb -kɩt́ag- 'pass, surpass'. In 
the phrases below, -kɩt́ag- is used with its basic meaning 'pass' in which no 
comparison is involved: 
(8.215)a. ɓám-ɩn-a a-lʊ́kʊ́ ɓé-motí nɩ ́ a-ná -kɩt́ag-á 
 3PLP:1.O-see-FV433 1b-man 1.NUM-one when 3SG-INCH-pass-FV 
 na mɛḿɩ ́ kakɩ ́ kó pǐsi 
 with 1a.goat 3SG.POSS PREP 9.path 
 'They saw a certain man when he was about to pass with his goat on the 

road.' (T2009.26) 
b. ná-kɩt́ag-ǎ ndɩ ká ɩ-kɔĺɔ yí-dingǐ. 
 3SGP-pass-FV P3 PREP 9a-school 9.ADJ-big 
 'I passed [the exams to go] to secondary school' (T2009.23) 

 

                                                   
 
432 The H tone of the LH contour merges with the following High. 
433 The Past has a TAM melody with a H tone on the leftmost prefix. Future has no TAM 
melody with H tones. In the case of the third person plural subject prefix, which has an 
underlying H tone, the verb forms are identical. In the context of the story, reference is to 
the past. 
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In the following examples, -kɩt́ag- is used in comparisons. Recall that Infinitive 
forms may include object and reflexive prefixes as well as verbal extensions. 
(8.216)a. ɓa-va kʊ ́ kakɩ ́ ɓá-lʊk-ǎ ndɩ ɓɛ ́ Lɩ-ngʊ́tʊ 
 2-clan member there 3SG.POSS 3PLP:1.O-call-FV P3 COMP 5-star 
 kó bulyó kyɛ ́ ǎ ndɩ wa-nzá ká-ʊ-kɩt́ág-á  
 PREP 9.reason because 3SG:be P3 1.ASS-good 9b-2.O-pass-FV 
 ɓa-sɩká ɓá-sɩ ɓá-mʊ-sɛngɩ ́
 2-girl 2.ASS-all 2.ASS-3-village 
 'Her clan members called her Star because she was more beautiful 

than all the girls of the village.' (T2009.12) 
b. í-pígo yá-nyamá tínó sɛ ̌ mʊ-ná wa-ma-balangá 
 9a-species 9.ASS-1a.animal which thus 1.DEM.II-CONN 1.ASS-6-spot 
 ká- kɩt́ág-á sukopí mʊ ? 
 9b:1.O-pass-FV 1a.leopard 1.DEM.II 
 'What kind of animal is this, spotted more than a leopard?' (T2006.1) 
c. mʊ-tʊ ́ wǎ-gɔgɔ a-tʊ́ gɔnɩ ́ na yangyá yá-gɔgɔ 
 1-man 1.ASS-other 3SG:be-INS also with 9.poverty 9.ASS-other  
 ká-ʊ-kɩt́ág-á ɩwɛ 
 9b-2SG.O-pass-FV 2SG.PRO 
 'Someone else certainly also has some other need, more than you.' 

(T2009.21) 
 
To express a superlative, the adverb kʊǵbɛ 'very' is added between the nominal 
with the point of comparison and the Infinitive form of -kɩt́ag- 'pass, surpass', as in: 
(8.217)a. ɩ-kɩ ́ yɔ ́ a na ɩ-zangɩýá kʊǵbɛ ká-kɩt́ág-á ? 
 9a-what 9.DEM.I 3SG:be with 9a-profit very 9b-pass-FV 
 'What is most important?' 
b. ǎ ndɩ míkí mʊ-paka kʊǵbɛ ká-ʊ-kɩt́ág-á  ɓá-sɩ 
 3SG:be P3 1a.child 1-favourite very 9b-2.O-pass-FV 2.ASS-all 
 ká mʊ-sɛngɩ ́
 PREP 3-village 
 'He was the most favourite child of all [children] in the village.' 
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To indicate that the other item is identical or just different, mʊɗɔngɔnɩ 'identical, 
horizontal'434 expresses that the item is identical to the one compared with. To 
mention that items are different without evaluating one as being better, etc. than 
the other, di 'different, strange' is used. Neither mʊɗɔngɔnɩ nor di shows noun-class 
concord. But di agrees in number: it is triplicated when it modifies a plural head.  
 
Examples include: 
(8.218) ɓa-mbánzʊ ́ ɓá-sɩ ɓá mʊɗɔngɔnɩ 
 2-person 2.ASS-all 3PL:be identical 
 'All people are the same.' 

The word mʊɗɔngɔnɩ keeps the same form regardless of whether its referent is 
singular or plural. 
 
(8.219)a. a-lʊ́kʊ́ mʊ-ná a di na ɓɛngɛńɩ.́ 
 1b-man 1.DEM.II-CONN 3SG:be different with 1a.other person 
 'That man is different from the other(s).' 
b. ɓa-ndáɓʊ didídǐ 
 2.house different 
 'different houses', i.e. all unique 
c. a-tɩ-́tʊngbʊl-ag-a ká mo-gubó didídǐ 
 3SG-1PL.O-help-PLUR-FV PREP 6-work different 
 'It helps us with different jobs.' (T2006.5) 

8.8 Complex sentences 
This section mainly aims to provide illustrations of coordinate and subordinate 
clauses. Subordinate clauses are divided into object clauses, relative clauses and 
adverbial clauses. Relative clauses are presented separately in 8.4, in order to 
introduce the trace particle minó, which also occurs in interrogative sentences, see 
8.5, and in left-dislocation, see 8.6.3. 

                                                   
 
434 Probably related to mʊ-ɗɔngɔ ́'3-row', plural class 9 ɗɔngɔ.́ 
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8.8.1 Coordinate clauses 
Coordinate clauses are divided by means of a pause, or by one of the conjunctions 
na 'and', ikánɩ ́'or', or lúkí límotí 'but'. Most frequently, there is no conjunction 
present between two coordinate clauses, only a pause: 
(8.220) a-bǎkɩ mʊ-sɩká nɔ ̌ á-va ma-lɩĺɩ ́ mɔ,́ 
 1b-father:3SG.POSS 1-girl 1.DEM.I 3SGP-take:FV 6-food 6.DEM.I 
 ó-bǐs-o ɓo-kpokúkú ɓoyí ká ndáɓʊ ka-ɓo-bikó 
 3SGP-put-FV 2+9-cooking pot 2+9.DEM.III PREP 9.house GEN-2-visitor 
 'The father of the girl took this food and put these cooking pots 

(exclusive) in the guesthouse.' (T2006.2) 
 
An examples of na 'and' is: 
(8.221) ã-mak-y-a ká lɩ-bɔ,̌ ɓa-sɔńgʊ́, mo-tíli, mʊ-nɔkʊ́ 
 3SG:1.O-insert-APPL-FV PREP 5-buttock 2+9-nostril 6-ear 3-mouth 
 na ã-gboɗy-o kó míso 
 and 3SG:1.O-smear-FV PREP 6:eye 
 'He will insert [them (i.e. rotten mushrooms)] for him, in the anus, in the 

nostrils, in the ears, in the mouth and he will smear [them] over his face. 
(T2006.3) 

 
The following sentence is a combination of clauses separated by pauses and by the 
conjunction na 'and' (in the context of the text, the time reference is to the past): 
(8.222) ta ká-am-ǎ ká-mʊmʊ́l-á, 
 1PL:be-FV 9b-limit-FV 9b-collect-FV 
 tó-ɓíng-o sɛ kʊẃa mɩśá má-kpʊ, 
 1PLP-cut-FV thus thus 9.firewood 6.ASS-big 
 tá-tʊp-a ndikó 
 1PLP-take all-FV 9.palm-nut pit 
 na tó-ɓungusy-o gɔnɩ ́ lɩt́á ló-ɓukú ɓǐ 
 and 1PLP-arrange-FV also 5:fireplace 5.ASS-8:burning piece of 

wood 
8.DEM.III 

 'When we finished gathering, we cut a lot of firewood, we took all the 
palm-nut pits and also arranged a fireplace for this fire (exclusive).' 
(T2006.5) 
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An example of ikánɩ ́'or' is: 
(8.223) ɩńd-ag-a kʊ́wǎ ndɩ ká-kɩś-á ma-lɩĺɩ ́
 3SGP:go-PLUR-FV thus P3 9b-Search-FV 6-food 
 ikánɩ ́ ká-tʊ́g-á líɓó no bití 
 or 9b-draw water-FV 5:water with 9.darkness 
 'So he went to search for food or to draw water during the night.' 

(T2009.21) 
 
The combination lúkí '5:object' and lí-motí '5.NUM-one' is used to express 'but': 
(8.224) síbǐ á-kɔ ̌ ndɩ mʊ-palʊ,́ lúkí lí-motí mʊ-palʊ́ 
 1a.tortoise 3SGP-cut:FV P3 3-barrier 5:object 5.NUM-one 3-barrier 
 mǐ nɩ4́35 Ø-kɛ-́gʊ̌ ndɩ ká-ǐ-gwin-ón-ó 
 3.DEM.III when 3SG-NEG:be:FV-NEG P3 9b-REFL-hold:ASS-ASS-FV 
 'Tortoise cut a barrier in the forest, but this barrier did not hold together.' 

(T2007.3) 
 
(8.225) ɓo-gbuwó ɓá-sáá ɓó-guly-o ká ndáɓʊ,  ɓá-va  
 2-chimpanzee 2.NUM-three 3PLP-enter-FV PREP 9.house 3PLP-take:FV 
 ma-sángɩ, ɓág-a ɓɛýɔ ́ áka yɔ,́ 
 6-basket 3PLP:leave-FV like that CT 9.DEM.I 
 lúkí lí-motí ɓá-ká-kwanan-ɩ-gʊ̌ ndɩ ká-tʊǵ-á 
 5:object 5.NUM-one 3PL-NEG-should-FV-NEG P3 9b-draw water-FV 
 líɓó kʊ-́sɔ ̌ wa-ma-sángɩ 
 5:water 17-inside 17.ASS-6-basket 
 'The three chimpanzees entered the house, they took baskets, they left 

LIKE THAT, but they could not436 draw water in baskets.' (T2007.1) 

8.8.2 Subordinate object clauses 
The complementizer ɓɛ ́introduces a direct or indirect speech complement, or 
another type of object clause. The difference is the occurrence of a short pause, 
preceding or following ɓɛ.́ 
                                                   
 
435 Short form of kánɩ ́'when, while'. 
436 The negative Future followed by the Past time adverbial °Hndɩ is used to express inability 
in the past. 
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a. Direct and indirect speech complements 
When the complementizer ɓɛ4́37 introduces direct speech or indirect speech, ɓɛ ́
occurs at the end of the main clause and is followed by a short pause. 
 
Examples of direct speech include: 
(8.226) ɓá-ɓɩḱy-a ɓɛ:́ tá- kw-íly-á ndɩ gbukó 
 3PLP-say-FV COMP 1PLP:1.O-die-BEN-FVP P3 1a.rat 
 'They said: "We died for rat".' (T2006.3) 

 
(8.227) Ká Ngasá na Kíbi ɓɛ:́ yɛ438 míkabǎ, wɩ-̌bɩb-ag-a 
 "Ka Ngasa" with "Kibi" COMP excuse me 1a.brother 2SG:REFL-praise- 

PLUR-FV 
 'Ka Ngasa [said] to Kibi: "Excuse me brother, you praise yourself." ' 

(T2006.1) 
 
(8.228) ɓó-bilisy-og-o kʊẃǎ ndɩ ɓɛ:́ "Rigo hooo !" 
 3PLP-chant slogan-PLUR-FV thus P3 COMP "rigo hooo" 
 'They scanted: "Rigo hooo!" ' (T2006.4) 

 
(8.229) a-ním-úus-ó kʊẃa ɓɛ:́ 
 3SG-INCH:REFL-ask-FV thus COMP 
 ɓɛ-gbɔgbɔ ̌ ɓayá-ɓo-tú ɓi nɩ-́ɓayɩ  
 2+9:9a-s.th. worn 2+9.ASS-2+9-clothes 2.DEM.III COP-2+9.DEM.II 
 Ø-ka-pʊt́-ɩḱ-án-á sɛ pɩýɛ kʊẃa, 
 3SG-COND-destroy-NEUT-ASS-FV thus thus thus 
 nɩ-̌gy-a kʊẃa ɩmɩ ɓʊ́nɩ ́? 
 1SG:REFL-do-FV thus 1SG.PRO how 
 'He asked himself: "These threadbare clothes here, if they are gone, 

what shall I do?" ' (T2009.21) 
 
 
 
                                                   
 
437 The verb for 'say' in Liko is -ɓɩḱɩ-. 
438 The High part of the LH tone on yɛ ̌has merged with the following H tone. 
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In the following two examples, ɓɛ ́introduces indirect speech: 
(8.230) Ká Ngasá a-ɓíky-i-ní Kíbi ɓɛ,́ ãm-íb-o 
 "Ka Ngasa" 3SG:1.O-say-FV.ANT-PFV "Kibi" COMP 3SG:1.O-know-FV 
 ɓɛ ́ a mʊ-lɩĺɩká   
 COMP 3SG:be 1-trapper   
 'Ka Ngasa has said to Kibi that he would acknowledge him to be a 

trapper.' (T2006.1) 
 
(8.231) yɛǩɩ kɔḱʊ ́ a-pa ɩyɩ ́ yamámá kʊǵbɛ 
 as 1a.chicken 3SG-want:FV 1.PRO 9a:wandering very 
 á- ɓɩḱy-a ɓata nɛǵbǎ ɓɛ ́ ɓá-gá mbɛýɩ 
 3SGP:1.O-say-FV again 1a.lizard COMP 3PL-go:FV.IMP first 
 ká-nyɔ ̌ mbɔńgʊ́ kó tutú 
 9b-pull up:FV 9.mushroom PREP 9.forest 
 'As chicken likes very much to wander around, she said again to lizard 

that they go to gather mushrooms in the forest.' (T2007.19) 
 
b. Other subordinate object clauses 
In the case of a subordinate object clause introduced by the complementizer ɓɛ,́ 
there usually is a short pause preceding ɓɛ ́and the subordinate clause.  
 
The complementizer ɓɛ ́occurs clause-initially in subordinate clauses where verbs 
like 'know', 'praise', 'demand' occur in the main clause: 
(8.232) ɓúm-ib-o ɓɛ ́ wa míkí mʊ-lʊḱʊ́ yǐ wa-lɩ-́ngʊnʊ ́
 3PL:2SG.O- 

know-FV 
COMP 2SG:be 1a.child 1-man 1.DEM.III 1.ASS-5-truth 

 'They will know that you are truly a young man439.' (T2006.8) 
 
(8.233) wɩ-̌bɩb-ag-a ɓɛ ́ ʊ-mwɔǵ-ɔ440 ɓa-nyamá 
 2SG:REFL-praise-PLUR-FV COMP 2SG:2.O-kill:PLUR-FV 2-animal 
 'You praise yourself that you kill animals.' (T2006.1) 

                                                   
 
439 Literally, 'a young man of truth'. 
440 The subject prefix onset, /w/, has merged with the vowel of the object prefix after V1-
deletion. 
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(8.234) a-bǎkɩ á-pak-á ndɩ ɓɛ ́ mbʊnyákɩ 
 1b-father:3SG.POSS 3SGP-guard-FVP P3 COMP 1a.husband:3SG.POSS 
 ik-o ndɛḱɛ mʊ-tʊ ́ mʊ-pɩlyǎ nzǎ 
 3SG:be-FV F3 1-man 1.ADJ-enduring 9.hunger 
 'Her father demanded that her husband should be a man who endures 

hunger.' (T2006.2) 
 
(8.235) Zangɩýá a-ná- táman-ag-á gɔnɩ ́ ɩyɩ ́ ɓɛ ́ Ikóɓú 
 "Zangɩya" 3SG-INCH-think-PLUR-FV also 1.PRO  COMP "Ikoɓu" 
 ó-kw-ó-ní ndɩ 
 3SGP-die-FVP-PFV P3 
 'Zangɩya thought as well that Ikoɓu had died.' (T2009.21) 

 
The complementizer ɓɛ ́has another function, without a following clause, i.e. to 
introduce an identification. Examples include: 
(8.236) ɓá-lɩk-y-ag-ǎ ndɩ ɓɛ ́ sɩ-mʊ́ɩ-́sɔ sí-dingǐ 
 3PLP-call-APPL-PLUR-FV P3 COMP 19-circumcision-19 19.ADJ-big 
 'They called it / It was called big circumcision.' (T2006.4) 

 
(8.237) lʊ́nga nɩ-́lɔ ́ ɓá-lɩk-y-ag-a ɓɛ ́ yangyá 
 5:war COP-5.DEM.I 3PLP-call-APPL-PLUR-FV COMP 9.poverty 
 ú-sil-y-ǎ ndɩ 
 3SGP:2.O-arrive-APPL-FV P3 
 'The war, which is called poverty, arrived at them.' (T2009.21) 

 
(8.238) ká mʊ-sɛngɩ ́ ka-Ɓavakwókwo, ǎ ndɩ mʊ-lɩĺɩká 
 PREP 3-village GEN-people of "Kwokwo" 3SG:be P3 1-trapper 
 ɓé-motí ínǎ ndɩ ɓɛ ́ Kíbigʊ Kádɩgyǎ 
 1.NUM-one 5:name P3 COMP "Kibigʊ Kadɩgya" 

 
'In the village of Bavakwokwo was a trapper called Kibigʊ Kadɩgya.' 
(T2006.1) 

8.8.3 Subordinate adverbial clauses 
Subordinate adverbial clauses have one of the following conjunctions clause-
initially: íba 'it means that, so that', kyɛ ́'because', nɩýɔ ́'when, while', yɛǩɩ 'when, as' 
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and kánɩ ́'when, while'. Subordinate clauses with the conjunctions íba and kyɛ ́
follow the main clause. nɩýɔ ́and yɛǩɩ are conjunctions in subordinate clauses that 
(almost) always precede the main clause. Subordinate clauses with kánɩ ́generally 
follow the main clause. 
 
The complementizer ɓɛ ́also occurs preceding subordinate adverbial clauses which 
express a purpose. These subordinate clauses all contain a Subjunctive form, e.g.:  
(8.239) sukopí no gbukó ɓɛ ́ ɩńd-ɩ ́ ká-kɩś-á bʊb̌ʊnzá 
 1a.leopard and 1a.rat COMP 3SG:go-FV.SUBJ 9b-search-

FV 
9.rotten 
mushroom 

 'Leopard [said] to rat to go to find rotten mushrooms.' (T2006.3) 
For other examples, see 7.9.1. 
 
Examples of íba 'it means that, so that', with and without a Subjunctive in the 
following clause: 
(8.240) tó-ɓungúsy-í-ni mʊ-sɛngɩ ́ íba tík-i ɓɩ-́nza 
 1PL-arrange-FV.SUBJ- 

ADDR 
3-village it means that 1PL:be-FV.SUBJ MOD-good 

 'Let us fix up the village so that we would be well.' (T2006.7) 
 
(8.241) wa-kʊkán-á ndɩ ɓɛ ́ sɩ-mʊ́ɩ-́sɔ sí-dingǐ íba 
 2SG-COND:hear-FV P3 COMP 19-circumcision-19 19.ADJ-big it means that 
 nɩ-́sɔ ́ ɓʊ́-kɔg-ɔ ̌ ndɩ minó ɓo-míkí ɓú-dingǐ 
 COP-19.DEM.I 3PLP:2.O-cut:PLUR-FV P3 TRACE 2-child 2.ADJ-big 
 'If you heard "big circumcision", it referred to the one where many 

children were circumcised.' (T2006.4) 
In (8.240), íba functions to express a purpose, in (8.241), íba introduces an 
explanation. 
 
Examples of kyɛ ́'because': 
(8.242) ǎ ndɩ ká-ɓɩḱy-á lɩ-́ngʊnʊ́ áka, kyɛ ́ kʊ ́ kakɩ ́
 3SG:be P3 9b-say-FV 5-truth CT because there 3SG.POSS 
 ik-ag-ǎ ndɩ ásɩ sʊ yá-li-kísi aká 
 3SG:be-PLUR-FV P3 only 9.smell 9.ASS-5-delicious dish CT 
 'He spoke THE TRUTH because where he lived there was ALWAYS 

THE FLAVOUR OF A DELICIOUS DISH.' (T2006.1) 



Chapter 8 
 
472 

(8.243) kínili ɓa-mbánzʊ ́ ɓá-mʊ́y-án-á na ɓa-bɩlɩ,́ 
 that's why 2-person 3PLP-hate-ASS-FVP with 2:1b-demon 
 kyɛ ́ ɓá-mwɔ ́ ndɩ Mbwóko 
 because 3PLP:1.O-kill:FV P3 "Mbwoko" 
 'That is why men and demons hate each other, because they [the demons] 

killed Mbwoko.' (T2006.2) 
 
Subordinate clauses with nɩýɔ ́'when, while' precedes the main clause: 
(8.244) nɩýɔ ́ ám-ɩn-a Kíbi, ã-́ pám-y-a ɓɛ:́ 
 when 3SGP:1.O-see-FV "Kibi" 3SGP:1.O-scream-APPL-FV COMP 
 wayí mʊ-ná wɩǩwɛ ̌ kú-mbúso 
 1a.friend 1.DEM.II-CONN 2SG:look:FV.INST 17-back 
 'When he saw Kibi, he screamed at him: "Friend! Look behind." ' 

(T2006.1) 
 
(8.245) nɩýɔ ́ Ikóɓú ɩń-á ɓɛýɔ,́ ɩńd-a ká 
 when "Ikoɓu" 3SGP:see-FVP like that 3SGP:go-FV PREP  
 ɓo-nzikaɓʊ́, ká-kʊ́ng-á ku-kwá-kʊ 
 2-man without mercy 9b-demand-FV 15-death-15 
 'When Ikoɓu saw that, he went to a band of robbers to ask for his death.' 

(T2009.21) 
 
An example of yɛǩɩ 'when, as' is: 
(8.246) yɛǩɩ ɓá-dwɛ kó tíko, sukopí mʊ-nɔkʊ́ á-dɩk-á ɓɩ-́dɛ 
 when 3PLP-arrive: 

FV 
PREP 9.field 1a.leopard 3-mouth 3SGP-cool-

FVP 
MOD-cold 

 'When they arrived at the field, Leopard was staggered.'441 (T2006.1) 
 
Examples of kánɩ ́'when, while' are: 
(8.247) á-syɛ ́ mʊ-kaká, kánɩ ́ ɓá-kã-́ pí-gʊ gʊtʊǵʊ 
 3SGP-pass:FV 1.ADJ-alone when 3PL-NEG:1.O-give:FV.ANT-NEG even 
 líɓó lí-mwǒ áka 
 5:water 5.ADJ-drinking CT 

                                                   
 
441 Literally, 'the mouth cooled cold'. 



Topics in Syntax 
 

 

473 

 'He passed [the night] alone, while they did not give him EVEN 
DRINKING WATER.' (T2006.2) 

 
(8.248) á-gy-a mbɛýɩ ma-syɛ ́ má-ɓǎ kánɩ ́ Ø-kɛ-́gʊ 
 3SGP-do-FV first 6-day 6.NUM-two when 3SG-NEG:be:FV-NEG 
 ká-ɩm̌-ʊkán-á nzǎ 
 9b-REFL-hear-FV 9.hunger 
 'First he spent two days without feeling hungry.' (T2006.2) 

8.8.4 Infinitives 
Infinitives display both nominal and verbal characteristics. They can fill positions 
in the sentence that are normally occupied by either nouns or verbs. They may be 
accompanied by modifiers or by arguments. In this section, an Infinitive is referred 
to as Infinitive if it consists of only the Infinitive form without object prefixes or 
arguments. Otherwise, it is referred to as an Infinitival clause. 
 
Infinitives take the noun-class prefix of class 9b (see 5.1.1), which is identical to 
the general preposition ká. Placing Infinitives in class 9b is argued for on the basis 
of their set of concords, which is identical to the one of class 9. In (5.43), repeated 
here, an Infinitive is modified by an adjective or by a nominal modifier. The 
Infinitive, being the head of the noun phrase, controls agreement on its modifiers: 
(8.249)a. ká-lyály-á yí-dingǐ 
 9b-graze-FV 9.ADJ-big 
 'the big grazing', i.e. eating a lot 
b. ká-ag-ǎ yá- ʊ-́sɩlɩ ́
 9b-leave-FV  9.ASS-17-downstream 
 'the downstream leaving', i.e. going downstream 

 
Constructions with an Infinitive as the head of a noun phrase and followed by a 
modifier are rare. 
 
In all positions, Infinitives can be followed by an argument and/or an adjunct. 
Infinitives can have derived forms with verbal extensions. In (8.250a), the 
Infinitival clause contains both an object prefix, the Causative extension and the 
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Directional suffix. In (8.250b), the Infinitival clause contains the reflexive prefix 
and the Causative extension: 
(8.250)a. lɩ-syɛ ́ nɩ-́lɔ ́ ɓík-o kʊ́wǎ ndɩ minó 
 5-day COP-5.DEM.I 3PLP:sit-FV thus P3 TRACE 
 ká-ǔ-pup-ís-ó-kú kʊńʊ ká mʊ-sɛngɩ ́
 9b-2.O-leave-CAUS-FV-DIR here PREP 3-village 
 'The day on which they sat to cause them [the boys] to leave towards the 

village ...' (T2006.4) 
b. wa-ság-á-tʊ ká-ǐ-monís-ó lúgo 
 2SG-abandon:PLUR-FV.IMP-INS 9b-REFL-show:CAUS-FV 9.middle 
 ka-ɓa-ɓɛngɛńɩ ́ ɓɛýɔ ́
 GEN-2-other person like that 
 'Stop showing off among other people.' (T2006.1)  

 
Infinitives, like other verb forms, have a specific TAM tone melody: a H tone on 
the final vowel. An Infinitive is the main verb in Progressive aspect, see 7.7.5. 
Infinitives cannot be inflected for negation. 
 
In the remainder of this section the following uses of constructions containing an 
Infinitive or Infinitival clause are presented: 
a. Infinitive or Infinitival clause as complement 
b. Infinitive or Infinitival clause as adjunct 
c. Infinitive or Infinitival clause as subsequent event or series of tasks 
d. Infinitive or Infinitival clause as comparison 
 
a. Infinitive or Infinitival clause as complement 
Infinitives may be used as objects of verbs expressing a modal or aspectual 
meaning. The subject of the main verb typically has the same referent as the 
subject of the Infinitive.  
 
(8.251) Ø-kíb-i-gʊ ká-dɩgy-ǎ 
 3SG-NEG:know-FV-NEG 9b-say-FV 
 'He will not know [what] to say.' (T2006.1) 
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(8.252) Ø-ká-pǎ ká-vǎ 
 3SG-COND-want:FV 9b-take:FV 
 'If you want to take [i.e. a wife].' (T2006.8) 

 
(8.253) ɓa-wanzá ɓá-ká-pag-ɩ-gʊ ká-kɔ ̌ sɩ-mʊ́ɩ-́sɔ 
 2-young person 3PL-NEG-want:PLUR-FV-NEG 9b-cut-FV 19-circumcision-19 
 sá-masɩɓʊ ́
 19.ASS-"masɩɓʊ" 
 'Young boys do not like to circumcise at a "masɩɓʊ" ceremony.' 

(T2006.4) 
 
(8.254) ɓa-lʊ́kʊ́ ɓi ɓá-ky-á ndɩ ká-ɩnd-á ká 
 2-man 2.DEM.III 3PLP-refuse-FVP P3 9b-go-FV PREP 
 sɩ-lyá-sʊ ka-mʊ-sɩká ka-a-bɩlɩ ́
 7-cohabitation-7 GEN-1-girl GEN-1b-demon 
 'The men refused to go and live together with the demon's daughter.' 

(T2006.2) 
 
(8.255) ɓa-tʊ́ ɓá-sɩ ɓǒ ɓi na ɓʊ-kpɛkɩ-́kpɛkɩ ́ kó-do-kú 
 2-man 2.ASS-all 3PL:be P1 with 14-problem 9b-come:FV-DIR 
 'All people had a problem to come.' (T2006.7) 

 
In the following examples, the Infinitive, the main verb, indicates a situation which 
is beginning or ending: 
(8.256) ɓá-pʊng-ǎ ndɩ ká-ly-á tíko 
 3PLP-start-FV P3 9b-eat-FV 9.field 

 
'They started to eat [from] the field.' 
(T2006.3) 

 
(8.257) ɓá-sa ká-in-ís-ón-ó ká ɓa-sɔḱɔ 
 3PLP-abandon:FV 9b-see-CAUS-ASS-FV PREP 2-market 
 'They stopped to appear at the market.' (T2009.21) 

 
Infinitival clauses may also be used after verbs of obligation. The subject has the 
same referent as the presupposed subject of the Infinitive. 
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(8.258) o-kwonón-i míkí mʊ-lʊḱʊ ́ yǐ ká-ik-ó na ndáɓʊ 
 3SG-should-FV.ANT 1a.child 1-man 1.DEM.III 9b-be-FV with 9.house 
 'It is expected of a boy to have a house.' (T2006.8) 

 
(8.259) ká-ib-ís-ík-ón-ís-ó ɓɛ ́ wa míkí mʊ-lʊḱʊ́ 
 9b-know-CAUS-NEUT-ASS-CAUS-FV COMP 2SG:be 1a.child 1-man 
 yǐ, o-ɓosíl-i ká-pʊng-á kó-pik-ó ndáɓʊ 
 1.DEM.III 3SG-need-FV.ANT 9b-start-FV 9b-build-FV 9.house 
 'To make known that you are a young man, one needs to start to build a 

house.' (T2006.8) 
 
In the above example, kápʊngá kópikó ndáɓʊ is the complement of oɓosíli and 
kópikó ndáɓʊ is the complement of the aspectual verb kápʊngá 'to start'. 
 
b. Infinitive or Infinitival clause as adjunct 
In the following examples, Infinitives and Infinitival clauses are used as adjuncts. 
They are used to express a time, a purpose or a reason. 
 
Examples of infinitival clauses with temporal use: 
(8.260)a. ndikó kó-bwǒ, wá-va lɩ-ɗakɩ ̌
 9.palm-nut pit 9b-grow big:FV 2SG-take:FV.INST 5-clay pot 
 'When the palm nuts [have] grown big, take a clay pot.' (T2006.6) 
b. ká-pup-ís-ó nyamá ká mʊ-sɛngɩ,́ mʊ-tʊ ́ wa-sɩ 
 9b:1.O-leave-CAUS-FV 1a.animal PREP 3-village 1-man 1.ASS-all 
 nɩ-́nɔ ̌ ãḿ-ɩn-a, ó-ping-og-o ɓí-kókóló-kokolo 
 COP-1.DEM.I 3SGP:1.O-see-FV 3SGP-harden-PLUR-FV MOD-stiff 
 'When he dragged the animal to the village, every person who saw 

him, grew stiff.' (T2006.1) 
c. ká-ag-ǎ ma-syɛ ́ ma-kɛɗ́ɛ ́ áka Kíbi á-lɩḱ-a 
 9b-leave-FV 6-day 6.ADJ-small CT "Kibi" 3SGP-trap-FV 
 mándɛ ́ ka-Dingopoyó 
 9.trail GEN-"Dingopoyo" 
 'A FEW DAYS later, Kibi trapped Dingopoyo's trail.' (T2006.1) 
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Examples of infinitival clauses used to express a purpose: 
(8.261)a. ág-ǎ  ndɩ ká- ɓɩḱy-á ngámá 
 3SGP:leave-FV P3 9b:1.O-say-FV 1a.chief 
 'He left to tell the chief.' (T2006.3) 
b. tág-á, nɩńd-ɩ ́ ká-ɩn-á no míso 
 1PL:leave-FV 1SG:go-FV.SUBJ 9b-see-FV with 6:eye 
 'Let us leave, so that I go to see it with my eyes.' (T2006.3) 
c. ɓá- ɩḱ-á i-ngbo ká-kpɔ ̌ mbʊḱʊ 
 3PLP:1.O-send-FVP 1c-aardvark 9b-dig:FV 9.grave 
 'Aardvark was sent to dig a grave.' (T2006.3) 

 
Example of an infinitival clause used to express a reason: 
(8.262) gbukó á-pɩḱɩt́-á ndɩ ɩyɩ ́ ká ma-ɓɩśɔ 
 1a.rat 3SGP-run-FVP P3 1.PRO PREP 6-hole 
 ká-ʊ-ɓáng-á ɓa-dǎkɩ no súni 
 9b-2.O-fear-FV 2-s.o. of same age:3SG.POSS with 9.shame 
 'Rat fled into holes out of fear for the other animals and out of shame.' 

(T2006.3) 
 
c. Infinitive or Infinitival clause as subsequent event or series of tasks 
Infinitives and Infinitival clauses may be used to indicate a subsequent event. They 
are also used in a series of tasks. In the case of a subsequent event, the first verb 
usually has the Inchoative aspect and the second verb has the Infinitive form. 
 
Examples of an infinitival clause following a verb with the Inchoative aspect: 
(8.263)a. ta-ná-yɩɓ-á ɓɛ-ngbɔngbɔ ́ na ká-ɗɩkɩt́-ág-á kʊǵɔkʊ́ 
 1PL-INCH-tear up-FV 2+9:9a-banana 

trunk 
and 9b-throw-PLUR-FV right there 

 'We are about to tear up banana tree trunks and throw [the pieces] 
there.' (T2006.5) 

b. kánɩ ́ a-nó-dw-ǒ áma ká-kpakyán-á 
 when 3SG-INCH-move-FV or 9b-walk-FV 
 'When he is about to move or walk. (T2006.2) 

 
 
 



Chapter 8 
 
478 

Infinitival clauses to express subsequent events or occurring in a series of tasks: 
(8.264) ɓá ká-ɩnd-á kã-́ ɔ ́ 
 3PL:be 9b-go-FV 9b:1.O-kill:FV 
 'They are going to kill him.' (T2009.21) 

 
(8.265) li-gubó ik-og-o kʊẃǎ ndɩ ká-lɩḱ-á ɓa-kpáká, 
 5-work 3SG:be-PLUR-FV thus P3 9b-trap-FV 2+9-trap 
 kó-lub-ó ma-sɩkɩɗángɩ ́ na mo-gubó má-gɔgɔ 
 9b-plunge-FV 6-fish hook with 6-work 6.ASS-other 
 'The work was thus setting traps, fishing and other tasks.' (T2006.4) 

 
(8.266) yɩǧyɩgyɩľyá yá-ku-káká-kʊ: yambámbá, kó-ɓíng-ó 
 9a:practice 9.ASS-15-housekeeping-15 9a:cooking 9b-cut-FV 
 mɩśá ká-kpǎ pǎ, ká-sʊkʊś-á ma-kpʊmʊ́ká 
 9.firewood 9b-sweep:FV 9.area 9b-wash-FV 6-thing 
 'Practices of housekeeping: cooking, cleaving firewood [with an axe], 

sweeping the yard, doing the dishes.' (T2006.9) 
 
(8.267) mo-gubó didídǐ ábɛ ̌ ká-sʊkʊ́s-á ɓo-tú, ká-ʊ-̌sʊkʊ́s-á 
 6-work different like 9b-wash-FV 2+9-clothes 9b-2.O-wash-FV 
 ɓa-sǎnɩ, ká-ɩ-̌sʊkʊ́s-ág-á 
 2-plate 9b-REFL-wash-PLUR-FV 
 'Different jobs, like washing clothes, doing the dishes, washing 

ourselves.' (T2006.5) 
The second Infinitive in the last example has an object prefix because its object 
belongs to class 2 (see 8.2.5). 
 
d. Infinitive or Infinitival clause as comparison 
Infinitives and Infinitival clauses are used in comparisons (see 8.7), when 
dissimilarity with respect to the point of comparison is expressed. Part of (8.216a) 
is repeated here: 
(8.268) ǎ ndɩ wa-nzá ká-ʊ-kɩt́ág-á  ɓa-sɩká ɓá-sɩ 
 3SG:be P3 1.ASS-good 9b-2.O-pass-FV 2-girl 2.ASS-all 
 'She was more beautiful than all the girls.' 

  


